Torts I – Fall 2007 - Kim

A. NON PHYSICAL HARM (EMOTIONAL HARM and ECONOMIC HARM)

1. Limitation on Negligence Duty: Emotional Distress and Economic Harm

a. Types of harm a plaintiff might suffer as a result of a defendant’s negligence:

(1) Personal injury

a. Harm to person
b. Emotional distress – negligence duty is limited
2. Falzone case (need not prove physical impact to recover for emotional distress, “zone of danger”)
a. KEY FACT: No physical impact.  The defendant automobile driver drove negligently and husband was struck.  And she was sitting in an automobile near that and she was not hit.

b. His negligence has no bearing ultimately on the outcome of the decision.
c. ISSUE: whether the plaintiff may recover for bodily injury or sickness resulting in fear for her safety where there was no physical impact

d. 2 issues:

i. Whether she herself has a cause of action because she herself was subject to the negligent driving of the defendant.

ii. When she observes her husband being hit and injured, does she have a cause of action for her emotional distress by watching him being hurt.

e. Rule before this case: from Ward
i. In order for Plaintiff to recover for emotional distress:

(1) Physical impact to her person

(2) Emotional distress (ordinary people would suffer)

(3) Emotional distress lead to physical consequences to the person

ii. POLICY reasons for rule:

(1) Rule/Standard – gives clear line for cases in which you can recover or not for emotional distress.  Certainty of being able to establish that there was contact.

(2) Administrability – potential for flood of lawsuits if you don’t have impact requirement – faking of injury.  Damages can rest on speculation.  Impact itself provides the corroboration.

f. Exceptions to impact rule in NJ

i. If avoiding hazard created by another, don’t have to prove impact.

ii. Can recover even if there was a slight impact, so that if the car driven by D merely grazed/touched

iii. If the D willfully/intentionally/recklessly inflicted emotional distress (IIED).

g. HOLDING: where negligence causes fright from a reasonable fear of immediate personal injury, which fright is adequately demonstrated to have resulted in substantial bodily injury or sickness, the injured person may recover.

i. You need not prove a physical impact to recover for emotional distress

h. The requirement of impact has virtually disappeared.

i. Mitchell – plaintiff pregnant woman was between two horses, untouched by either of them. Had miscarriage.  Could not recover.

j. Humana – P would be able to state a claim only if treatments or injection had harmed him (false test for HIV)

k. Ruttger – guests sued D motel after robbers forced them into room, denied recovery because failed to show the requisite physical impact.

l. Car crashes v. Airplane crashes

i. Wooden – P allowed recovery when car negligently came onto her property and nearly hit her.

ii. Lawson – denied recovery when airplane crashed into nearby ground

(1) Loosey-goosey nature of a pure emotional distress claim

(2) Burden on D and social consequences - Limitless tort liability 

m. Airplane passengers allowed recovery – emergency landings and turbulence

n. Doomed

i. Most courts have allowed recovery where P was aware of impending death or injury even if the period of awareness was very short.

ii. Pre-impact fright not limited to airplanes, skid marks

iii. Ghotra – victim was conscious and survived for 10 seconds – no recovery

iv. Longer periods of time – Sander – D’s negligence in reading pap smear test led to cancer and too late to save decedent.  Awarded 1 million.

3. Metro-North case (FELA) v. Buckley (“zone of danger” – immediate risk of physical harm)
a. FACTS: P exposed to asbestos.  After asbestos awareness classes, feared he would get disease.  Sought damages for his emotional distress and to cover cost of future medical checkups.  
b. ISSUE: whether the plaintiff can recover where there are no symptoms of the disease and has fear that he might develop cancer or some asbestos-related illness which he has not yet contracted.

c. ISSUE 2: whether a railroad worker negligently exposed to a carcinogen but without symptoms of any disease can recover under the Federal Employers’ Liability Act for negligently inflicted emotional distress.

d. Gottshall case uses “zone of danger” test – (a threatened physical contact that caused, or might have caused immediate traumatic harm i.e. car accident, gas explosion, tran striking car, clothing caught in escalator and choking victim, intruder assaults P’s husband)

(1) Impact OR “zone of danger”

(2) Emotional distress

(3) Physical consequences

e. POLICY reasons:

i. Difficulty for judges and juries (administrability)

ii. Threat of “unlimited and unpredictable liability”

iii. Potential for flood of trivial claims

f. HOLDING:  cannot recover unless he manifests symptoms of a disease.
g. “physical impact” does not include a simple physical contact with a substance that might cause a disease at a substantially later time – where that substance threatens no harm other than that disease-related risk.
h. If you cannot establish zone of danger, cannot recover for emotional distress.

4. Gammon case (guy got a severed leg instead of his dead dad’s personal effects)
a. Court is allowing recovery for NIED.  Substitute for impact or “zone of danger”

b. The limitation is a structural limitation: Trial process will be our filter for excessive liability.

c. Abandon artificial devices – take away impact rule, objective manifestation, etc.  Turn it over to the jury to decide when someone has acted negligently.
5. Portee v. Jaffee (7 yr old son died while stuck in elevator, mom watched)

a. Negligence on the part of building owner – not making safe the elevator for people who would ride it (invitees or tenants).  
b. ISSUE: where the plaintiff was not physically injured nor was she physically impacted by the defendant’s negligence, can she bring a cause of action for NIED for watching her son die?
i. This is case of bystander liability – mom has watched son die.
ii. Claim: D breached the duty to my son and I am entitled to recover because I had to watch.
c. California’s Dillon Rule – 3 factors (bystander recovery)
(1) whether P was located near the scene of the accident as contrasted with one who was a distance away from it (have to be located close by)

(2) whether the shock resulted from a direct emotional impact upon P from the sensory and contemporaneous observance of the accident, as contrasted with learning of the accident from others after its occurrence (have to observe in person)
(3) whether plaintiff and the victim were closely related, as contrasted with an absence of any relationship or the presence of only a distant relationship. (close relationship – family, one degree removed)
d. Note 2: can’t recover if you watched the accident happen on TV (woman watched fire at hotel where husband was staying)
e. HYPO where 2 causes of action are triggered:

i. Standing on a street corner with daughter and a negligently driven vehicle drives up on sidewalk and hits my daughter and injures her.  2 separate causes of action:
(1) For any severe emotional distress, cuz I was nearly hit
(2) For any severe emotional distress, cuz I witnessed my daughter being hit
f. NIED (Dylan Factors)
(1) Death or serious physical injury to victim caused by D’s negligence
(2) Marital or intimate family relationship w/victim
(3) Observation of death or injury at scene of accident
(4) Severe emotional distress
6. Johnson v. Jamaica (not allow for NIED, outside zone of danger, didn’t observe death or sbi)
a. FACTS: Abduction of infant from hospital for 4.5 months.  Parents are obviously emotionally distraught.  Parents are suing hospital for the negligence and the hospital was negligent to the baby.  Negligent in allowing someone to snatch the baby from custody.  
b. The court rejects the claim of the parents that the hospital was negligent to them.

c. In addition, rejects a Dillon like cause of action for the parents to piggy back upon the negligent behavior toward the baby.

d. HOLDING: Plaintiff parents may not recover damages from D hospital for any mental distress or emotional disturbances they may have suffered.
e. Emphasize distinction between the hospital being negligent toward them (being rejected) and hospital negligent toward baby.
f. ISSUE: when the hospital has been negligent toward their daughter, may they recover bystanderwise for the emotional distress they suffer.  Court says NO.
g. POLICY reasons

7. ECONOMIC INJURY

To whom is a negligence duty owed?

	
	Persons to whom duty is owed for Economic Losses:



	Negligence Duty – personal injury
	Persons foreseeably injured by D’s conduct

	Where negligence is based on a statute
	Persons within the class the legislation was designed to protect

	Where negligence causes economic loss – accountant liability
	Alternative tests for persons to whom accountant is liable for negligently-prepared audit report:

1. Foreseeable persons

2. Persons in privity

3. Persons in “near privity”

4. Rest. Section 552 “person or limited group of persons for whose benefit D intends to supply the information” determined at the time of the audit report


8. Nycal Corp v. KPMG

a. Accountant failed to take into account large recurring losses. 
b. Question: to whom does the auditor owe a duty of care?
i. Restrict duty to persons in privity – the company.
(1) Privity means they contracted out auditor’s services.
(2) PRIVITY: the person with whom you are in a direct contractual relationship
ii. Persons in near privity – banks, limited class of people

iii. Foreseeable persons - more limited than general duty
(1) Court doesn’t want this because of excessive liability – too great a risk upon auditors
iv. Person or limited group of persons for whose benefit D intends to supply the information
c. Nycal interpretation of “Limited group of persons”:

(1) Accountant has “actual knowledge” of the “limited group” who will rely on the report and the
(2) Accountant has “actual knowledge” of the particular financial transaction that such information is designed to influence.
d. HOLDING: the limited group of persons are those people who the accountant 1 and 2 above.
e. HYPO – suppose audit report is prepared on new issuance of stock to current shareholders – limited group and accountant has actual knowledge of this particular transaction.
f. HYPO 2 – private placement of stock – not offered to public – so limited group
9. Distinction between Nycal and People Express
a. Nycal: some preexisting contractual relationship.  PE: no contract.  Question is: to whom other than the ppl you are in a contract with do you owe a duty of care?
10. People Express Airlines (particular foreseeable rule)
a. Dangerous chemical in PE that is released and done so negligently.  Who can recover?

i. Ingest chemicals → may sue for personal injury (to your body)
ii. Chemicals damaged property (plants) → property damage → may recover
iii. Business interruption → “economic loss”?? (prior rule: property damage served as surrogate for defining class of people)(PE is rejecting that rule.  Businesses in the vicinity who have to evacuate their premises, not because they have been affected in body or property, but rather to avoid such injury.
b. FACTS: D’s alleged negligence caused a dangerous chemical to escape from a railway tank car, resulting in evacuation from the surrounding area of persons.  P is a commercial airline, and was forced to evacuate its premises and suffered an interruption of its business operations with resultant economic loss.

c. ISSUE: whether a plaintiff can recover for economic loss as a result of defendant’s negligence in release of chemicals into surrounding area causing the plaintiff to evacuate the premises.
d. Defendant is making B arguments (tend toward lower liability, less liability, no duty, lesser standards of behavior):

i. Excessive liability – should not expand liability, should adhere to the rule of physical impact to their property.  how to distinguish between this business and other businesses.

ii. Disincentivize businesses like railroads from operating if we impose liability

e. Rule the court adopts: 

i. Particular foreseeability – distinction between general foreseeability vs. some smaller group of people we delimit by calling those people “particularly foreseeable”

ii. Economic loss (merely)

(1) Prior rule: no recovery absent property damage

(2) PE rule: recovery IF and ONLY IF your loss is “particularly foreseeable”
iii. Identifiable class of people: not simply a foreseeable class (members of general public, invitees, customers of residents, travelers on highway are NOT part of class of people.
(1) Loosey-goosey guidelines
1. type of persons or entities, certainty or predictability of their presence, approximate number, type of economic expectations
iv. People Express is in this class because physically located there, not transient, in proximity to railroad line.
f. HYPOS:
i. Suppose someone in hospital contaminates with a hazardous chemical and lands on surgeon and because of that, cannot practice for a month. 
(1) Both personal injury and econ loss and entitled to recover for both.
ii. Spill in hospital.  Surgeon is not personally injured.  Exclusive practice is in hospital and closed for a week.  Under PE rule, likely to be seen as particularly foreseeable.
iii. HOLDING of PE doesn’t define – so can’t say nurses.
iv. Couching this point in probabilities rather than absolutely because depends on how a court evaluates this.
B. CAUSATION – ACTUAL CAUSE

1. D’s conduct must be both the actual cause AND proximate cause of injury
2. General formulation:
a. Actual cause: Direct result of another’s behavior.  Joe caused Suzy harm when drove over big toe with car.  Can you link the negligence to damage suffered?
i. Factual inquiry – but for Ds breach of duty, P’s injury would not have occurred
ii. Usually goes to jury
iii. If eat at 3 restaurants, you don’t have a cause of action because you can’t show which restaurant gave you contaminated food.
iv. EXCEPTION: only time when but for causation need NOT be shown:
· Section 432:
· (1) Except as stated in Subsection (2), the actor's negligent conduct is not a substantial factor in bringing about harm to another if the harm would have been sustained even if the actor had not been negligent.

·    (2) If two forces are actively operating, one because of the actor's negligence, the other not because of any misconduct on his part,   and each by itself is sufficient to bring about harm to another, the actor's negligence may be found to be a substantial factor in bringing it about.

· Instead, use substantial factor test (only use when more than one cause that occurs simultaneously). Can’t use but-for test bc each fire is sufficient cause, not necessary

· Twin fires ex: 2 fires occur simultaneously, burning down P’s home. One is negligently set, the other is not. But for test fails bc P’s home would’ve still burnded down even in absence of D”s negligently set fire. Substantial factor test satisfied bc D’s negligently set fire is a substantial factor causing P’s injury.
b. Proximate cause: Limitation on recovery.
i. Legal cause

ii. Even if D caused you harm, should the D’s negligence be limited for some reasons of social policy?
c. If you remove the defendant’s negligence, would plaintiff still have been injured?
3. Stubbs v. City of Rochester (typhoid from contaminated water)
a. ISSUE: did the plaintiff produce enough evidence from which inference might reasonably be drawn that the cause of his illness was due to the use of contaminated water furnished by defendant.
b. FACTS: D’s negligence allowed water to contaminate and infiltrate the city water supply
i. Timeline: May – contamination. Sept – illness
ii. Factory and Home – near the point of contamination where contamination is stronger.  Didn’t travel so only drank this water
iii. Illness: doctor took sample and said water was contaminated
iv. Expert opinion that water caused illness
v. 57 other people contracted typhoid
c. D’s argument: 7 other causes of typhoid – raw vegetables, shellfish, personal contact, etc.
d. Ct appears to be applying not reasonable certainty, but a lower threshold – like reasonable probability. 
e. How toxic cases play out: 
i. P gets injured bc exposed to toxic harm
ii. General causation question – whether toxic agent was capable of causing the disease in the first place
iii. Whether that particular agent caused the disease
f. HYPO: spilled oil in cafeteria and boy slips.  Linoleum is slippery anyway.  Can you say “but for the D’s breach of duty, P would not have suffered legal injury”?
g. City ordinance: no trucks over 20 tons are permitted on city streets.  Pipes freeze and water damage.  But for negligence of truck over 20 tons, the plaintiff’s legal damage would not have occurred.  D’s helpful evidence: even if didn’t violate statute, would have happened anyway.
4. Circus Circus: young boy contracts salmonella poisoning.  His proof shows 80% chance he was poisoned by D’s food.  Evidence showed he only ate at that hotel.  Doesn’t have 100%, has 80%.
a. Because the plaintiff only has burden of proof by a preponderance of evidence (not beyond reasonable doubt), think in terms of probability.  Preponderance is more than 50%
5. To satisfy Burden of proof:
i. Burden on P
ii. In a civil case, means “more likely than not”
iii. Need NOT disprove all possible scenarios
iv. Test is whether, based on the evidence, the finder of fact is reasonably certain that among all the possible alternative causes, D’s negligent act caused the harm (SAME AS PREPONDERANCE OF THE EVIDENCE?)
6. Zuchowicz v. United States

a. FACTS: Defendant admitted that its doctors and/or pharmacists had negligently given Zuchowicz the wrong dosage of Danocrine.  After 4 months of stopping, she was diagnosed with PPH rare and fatal disease.  She later died.  Amount of prescribed Danocrine was twice the limit authorized by FDA or customary within the medical profession.
b. Breach of duty: prescribing double the amount of Danocrine.
c. Actual cause question: Her estate must establish that the negligent act, the overdosage, caused her PPH and eventually her death. Actual cause missing here – expert testimony is usually based on scientific methodology. Couldn’t really show causal link btwn testimony and P’s injury – med had never been linked to PPH before.
7. Scientific evidence
a. Role of Judge: Act as a gatekeeper in determining whether to allow expert testimony.  Requires judges to make a preliminary assessment of whether the reasoning or methodology underlying the testimony is scientifically valid and whether they can be properly applied to the facts at issue.
b. Daubert Factors:  used to determine relevance and reliability of proposed expert witnesses but judge has discretion on whether or not to admit such testimony:
(1) Whether theory can be (and has been) tested according to the scientific method
(2) Whether the theory or technique has been subjected for peer review
(3) In the case of a particular scientific technique, the known or potential rate of error
(4) Whether the theory is generally accepted
8. Alberts v. Schultz

a. Claimed negligence: He lost the probability or a significant chance that he wouldn’t have lost the leg. LOSS OF CHANCE DOCTRINE: P lost an opportunity that harm could have been avoided
b. ISSUE: may the plaintiff recover for a lost opportunity/probability. (may the P recover for the loss of a significant chance that he will have lost his leg and the doctor’s negligence caused the loss)
c. The Court will permit this plaintiff to recover merely for the lost chance.
d. Calculation of recovery/damages:

What will be the calculation in this case?

· mathematical formulation of what would have happened but for the loss of a chance.
· If only because of the delay, the plaintiff has a 35% chance of keeping the leg, in theory, the P would get 35% of the total.
· At the time the P goes to physician, he only has 50% chance of keeping the leg, and because of negligence, his chances drop from 50 to 25%.  He’s lost in essence 25% chance of keeping the leg.  And his measure of damages is a percentage of what he has lost.  Using the percentage of total recovery as a compensation for loss of a chance.
· KEY THING: the doctrine – loss of chance doctrine – although controversial, most courts that have considered it have accepted it.  The actual measure of how you value it is controversial.
9. JOINT AND SEVERAL LIABILITY

a. HYPO: Driver A is driving negligently; driver B is driving negligently runs a red light. To avoid A, B swerves onto sidewalk and hits P. (Both are but for causes of P’s injury – both are necessary, not sufficient causes; e.g. one in and of itself would not have caused the injury.
i. P suffers harm of $20k. 
ii. In joint and several liability jxn, P can sue both A and B for the full amt (can’t get double recovery, though – just 20k max)

· A lot of J&S liability is driven by economic statute of the Ds (solvency) If one D is completely insolvent, gets a windfall bc can’t pay DO BOTH NEED TO BE MORE THAN 50% AT FAULT?)
iii. If only several liability: fault is apportioned based on how much each D is liable. But D needs to be more than 50% liable. E.g. if A is only 45% at fault, P can only recover 55% from other D, and no more. Loss falls on D.

iv. Joint and several liability: both equally liable for whatever damages caused.

v. The P can bring suit against both defendants and may recover the entire amount of loss from one of the D’s.  P can choose or apportion the loss between 2 defendants.  

vi. Joint and several liability:
(1) P may sue D1

(2) P may recover 100% of loss from D1

(3) Since P can recover a maximum of 100% plaintiff’s losses

vii. This doctrine makes it more likely to get 100% if we permit him to recover in this way.  Primitive form of insurance that he’s maximally likely to recover 100% of losses under this rule.

viii. Jointly liable: liability shared between two or more parties.

ix. Several liability: liability that is separate and distinct from another’s liability, so that the plaintiff may bring a separate action against one defendant without joining the other liable parties.

x. Joint and Several Liability: Liability that may be apportioned either among two or more parties or to only one or a few select members of the group, at the adversary’s discretion.  Thus, each liable party is individually responsible for the entire obligation, 

xi. When Ds are jointly and or severally liable?

· When the negligence of each is a multiple sufficient cause of injury (twin fires)

· Alternative liability (Summers v. Tice)

· Market share liability (Hymowytz)

· No basis for apportionment

· Concurrent tort feasor (causing same injury)

· Acting in common plan to commit a tort – acting in concert

· Vicarious liability

xii. When are Ds not JS liable?

· Distinct harms

· Successive injuries

· Apportionable injuries

xiii. JS liability – statutory reforms

· Abolish

· Abolish where D is less than, for ex 50% at fault

· Abolish for non-eco damages (CA included)

· Abolish where P himself is at fault

· Abolish in some areas, retain in others
10. Summers v. Tice

a. FACTS:   Plaintiff and defendants were hunting quail and both defendants fired in plaintiff’s direction.  One shot struck P’s eye and the other P’s lip.  Both D’s used the same gun and same size shot.

b. ALTERNATIVE LIABILITY: Where independently acting defendants act negligently, they breach a duty to the P but there is uncertainty as to who caused the injury, the burden is shifted to the defendants to exculpate themselves if they can.
c. HOLDING: it’s justifiable to hold each of them responsible even though plaintiff can’t establish but for cause. 

d. Court, as a rule of law, is permitting the shifting of burden of proof on causation.
e. Rule: Alternative liability: when there are multiple Ds and we know that one of them caused the injury and both are negligent but it’s impossible to ID which fired eye-bullet, both will be held js liable.
f. Strict liability: Court accomplishes this.  Liability even though negligence has been established and your act may not have caused the injury.  – Conflicted decision, not accepted everywhere.  CA.

g. Similar to Ybarra but diff – no smoking out here. No one knows who’s responsible.
11. Hymowitz Case

a. Extension of actual cause question
b. ISSUE: can a manufacturer of a product be held liable under a market share theory where its individual causation cannot be established for any individual plaintiff?
c. FACTS: DES causes problems.  Drug mftr is UNIDENTIFIABLE.  Drug is FUNGIBLE: same pharmacologically – identical in makeup because chemical composition is identical.
d. Possible theories of causation:
(1) Conventional “but for” approach to causation (*this is the ordinary requirement)
a. Plaintiff cannot ID the manufacturer of her drug
b. Cannot match which defendant caused which harm
(2) Alternative liability – J and S – (Summers case – shifted burden of proof, not liability)
a. 300 of them
b. Jointly and severally liable to P unless can exculpate themselves
c. This is not appropriate partly because large # of D’s.  Probability that any one of them pulled the trigger is so small court is unwilling to go this way.
(3) Concert of Action – J and S
a. Agreement to act tortiously – J and S liability
b. Example: Drag racing
c. People join together and do something and sometimes encourage each other
d. Orser v. George (386): All three were held J and S liability under concert of action including 3rd person who had different bullet.  Acting tortiously and encouraging each other to act tortiously.
(4) Enterprise Liability (industry-wide liability)
a. Hall case (387): blasting cap manufacturers
b. Industry wide cooperation – design of this.  Safety reasons – wanted a common standard.  They delegated to the assn the design.
c. Since only 6 in this case, can hold them liable.  
e. Market Share Liability: Impose liability based on a manufacturer’s share of the market unless can show didn’t make the product
i. Under “but for,” P has to match her harm to the specific defendant, so court adopts Market Share liability so that P can recover. P must show
(1) All names Ds are potential tortfeasors

(2) The alleged products of all tortfearsors share same properties and are identical

(3) P, through no fault of her own, cannot ID which D caused the injury; and

(4) P brings in as Ds those representing a substantial share of the market
Not allow for joint and several liability under market share approach.
DISSENT: we should hold them jointly and severally liable.
1. Under this approach, would have to redefine the market share in every case, a whole range of litigation in those instances where someone has exculpated.
ii. Application:
(1) Manufacturers operated in parallel fashion
(2) Created identical prods that caused injury many years later
(3) And legislature created expectation that Ps could recover by extending SOL and upholding rights
iii. Ct creates national market-based approach. More administrable than local market based approach??
(1) yes – easier to enforce
(2) Counter: inefficient – so many Ds who will be counterclaiming; increased litigiousness. 
(3) Counter: overarching fairness – ct concerned w/ compensating Ps. Ds can deal w/their issues on their own – solvent large industries anyways.
iv. Policy: fairness. Also – deterrence (all the pills caused harm)
C. PROXIMATE (LEGAL) CAUSE (limitation on liability)
1. Even though D caused harm, for policy reasons, we will restrict liability in some way.
2. If negligent act resulted in foreseeable injury, then proximate cause isn’t an issue.

3. Judge determines if there’s a prox cause issue, if yes – goes to jury

4. An approach – category of cases of prox cause
i. Foreseeable types of harm [wagon mound]
ii. Direct results [Polemis]

iii. Harm w/in the risk [Sugar Notch Railway]

iv. Eggshell skull [Ben]

v. Secondary harm (normal consequence test)
5. COMPETING TESTS:
a. Foresight test:

i. Is the harm of the same sort that was risked when defendant breached her duty?
OR
b. Directness test (Polemis, Vosburg, Andrews dissent)

(1) Polemis: D moving benzene across ship placing boards across as temp platform. Board fell through and benzene fell in water – causing fire and destroying ship. Ct said direct cause enough – direct link btwn negligent act and injury.
(2) Does the harm flow in an unbroken stream from D’s tortious conduct OR is it

a. Too remote or

b. Interrupted by a superceding cause
c. Harm w/in the risk
Vosburg – test for whether you are liable for all resulting harm is the directness test.  
a. Court says 2 alternatives:
i. At the time of the kick, under a foresight test, reasonable damages you think would befall plaintiff, maybe a bruise.  Court rejects this approach.
ii. We’re going to use directness test and hold D liable for all harm that directly flows from sequence of the kick regardless of whether or not you foresee.
2. FORESEEABILITY TEST:

a. Proximate cause test says you’re not liable under foresight test unless the harm is of the same type that was risked.
i. Doesn’t apply to secondary harm or eggshell P
3. DIRECTNESS TEST:

a. Holds that regardless of what you could foresee at the time you ran the risk, we are going to hold you liable so long as harm flows in an unbroken stream from original tortious conduct provided that it’s not too remote or interrupted by a superceding cause.
i. This test looks backward in time and looks at the events as they actually transpired, not at the time the negligent act is taking place.
4. HARM W/IN THE RISK

(1) Rule: a negligent actor is responsible only for harm the risk of which was increased by the negligent aspect of his conduct. Restatement:  No liability where harm arises from an entirely different hazard than that created by the defendant’s negligence
(2) Application: Or Driving at an unsafe speed does not increase the risk that a tree branch will fall on you.  [Berry v. Sugar Notch]. Placing rat poison where someone might drink it does not increase the risk that it will catch fire.  The fact that the gun was loaded does not increase the risk that it will be dropped.  
5. MAJORITY RULES

a. Type of harm 

(1) Foresight test (Wagon Mound #1)
a. Is the harm of the same general type that was risked?

(2) Directness test? (Polemis)

b. Manner in which injury occurred 

(1) Usually not required to be foreseeable
c. Extent of injury

(1) Thin skull rule
(2) Aggravation of original injury
d. Do the majority of courts require proof of:
(1) Foreseeable plaintiff? 

YES
(2) Injury is of same sort? 

SPLIT (most crts go for foresight rule, 4 this class SPLIT)
(3) Extent of injury is foreseeable? 
NO
(4) Manner was foreseeable? 
NO
e. Legal Cause
(1) Foreseeability test used for TYPE of injury: Is the harm of the same general sort that was risked? (split)
BUT:

(2) D need not anticipate the precise manner of the occurrence (Marshall v. Nugent)
(3) D need not foresee the exact extent of harm (e.g., Kinsman Transit)
(4) Foresight of a remote possibility of harm may be sufficient to establish proximate causation (Wagon Mound 2)
(5) Thin skull rule: with regard to personal injuries the D takes the P as she finds him. (doesn’t encompass emotional harm) (Benn)
·  Rule: liability for full extent of the harm, even if the extent is unforeseeable. Application: characterize D’s acts as creating a foreseeable risk of initial physical injury to P, physical injury occurs, then the extent of harm is irrelevant.
· Hypo: Concert violinist’s hand injured. No way that D knew hand injury would be detrimental to P. Could argue initial injury foreseeable, and P had preexisting condition (already a violinist), and aggravated part of injury was being unable to work.
· FOR THIN SKULL P TO APPLY, MUST P PROVE THAT D KNEW ABOUT PREEXISTING CONDITION?
(6) Injuries caused BY rescuers to victims: normal rescue efforts do not breach the chain of causation between tortfeasors and victim, even if the rescuer is negligent. (These risks are held to be “foreseeable” as a matter of law.). e.g. D will be held liable for injuries for hospital’s negligence, etc.
· Pridham case: P injured when D negligently crashed into him. P dies when ambulance driver suffers heart attack and crashes into tree. Can D be liable for secondary harm?? Ct held yes. No clear test on whether secondary harm has to be foreseeable.
· RULE: normal efforts of 3rd persons in rendering aid which the other’s injury reasonably requires irrespective of whether such acts are done in a proper or in a negligent manner
· RULE: Normal Effects test: what is this?!
(7) Injuries caused TO rescuers: D owes a duty of care to rescuers who are injured while reasonably performing ordinary rescue efforts (Wagner)(These risks are “foreseeable” as matter of law.)
6. Benn v. Thomas

a. FACTS: D rear-ended P.  Benn had history of coronary disease and insulin-dependent diabetes.  Died of heart attack.  P injured not in the same way an ordinary person would be
b. ISSUE: whether the trial court erred in refusing to instruct the jury on the “eggshell plaintiff” rule
c. Eggshell Plaintiff Rule: (you take your victim as you find them) When the D is acting negligently and breach of duty caused harm, the D is liable or all harm that afflicts the victim including harm that could not have reasonably been foreseen. (Exception to Foresight test)
i. Does not apply to emotional distress: get to recover only if an ordinary person would have suffered such distress.
ii. Applies to schizophrenia and other diagnosable diseases
(1) Distinction between this kind of illness that is precipitated versus emotional distress that may have a diagnosis.
iii. LIMIT: Dillon case: boy sitting on a bridge.  He slips and grabs wire on his way down and is electrocuted.  If D can show kid would have died anyway, then D is not liable.
(1) RULE: If the person who is claiming recovery under the thin skull rule would have suffered the injury regardless of what D did, then D is not liable.
7. EXCEPTIONS TO FORESEEABILITY RULE:

a. Courts have made D liable for ambulance being negligently driven on way to hospital.(Pridham)
i. not regarded as superceding cause 
ii. Ambulance driver is J and S liable for injuries after the negligent act.
b. Also make liable for physician’s misdiagnosis. (Stoleson -  P worked in plant and was found to have suffered heart probs from negligently being exposed to nitroglycerine. Harm should’ve been temporary and stopped when P stopped working at factory. But developed hypochondria. Result  was bc of med advice given to her. D liable.)
8. Intervening/Superceding Causes
a. Absolves D of liability if unforeseeable intervening cause outside scope of risk. 

b. Intentional and criminal act by 3rd party can break causal chain BUT will not break chain if initial D should have known that likelihood of such harmful situation might be created, and if 3rd party crim actor was foreseeable

i. Ex of NOT foreseeable: Doe v. Manheimer – P was raped on property owned by D. Pulled from street to vacant lot in high crime area. Incident occurred behind overgrown bush. P claimed D’s negligent action in letting bushes grow was prox cause of P’s injury – used foreseeability approach. Given high crime area, bushes provided protective zone. Also, scope of risk approach – harm suffered was w/in scope of risk created by D’s negligent conduct in not maintaining his property. Also, catalyst liability – rapists conduct was dependent on D negligently maintaining prop. P also had expert testify that high crime area and thus increased risk of violent crimes.
ii. Analysis: Ct  said arg fails. If accepted P’s reasoning would eliminate prox cause. Regarding expert – he only talked about the area, said nothing about foreseeability to D.
iii. Policy: D’s negligence was only incidental to crime – matter of fairness. RPP wouldn’t have made the connection btwn crime and bushes. Would also be limitless liability – floodgates.

iv. Note: Could’ve changed facts to hold D liable if there’d been prior accidents/crimes on Ds prop.

v. Note: Hines v. Morrow – dude w/peg leg tried to tow stalled car out of mud. D’s peg leg got stuck in muddy hole, which wouldn’t have been there had D rr not negligently maintained this part of highway. P was in danger of getting hit by car, so grabbed tailgate of service truck to pull him loose. Good leg got stuck in rope and broke. Ct held D liable – exact consequences need not be foreseen. Enough that D was lawfully using highway, got stuck in hole negligently maintained by D and hurt himself trying to extricate himself.
vi. Note: Van v. Pena – D gave minor gangsters alcohol and they raped and murdered 2 girls that wandered by. Ct held minor’s conduct not foreseeable. Said foreseeable that would drive and injure someone, but not that 2 girls would walk upon their initiation and get murdered. Prof says could’ve framed it by saying D seller should’ve known selling alcohol to minors who appeared to be gang members would result in some criminal activity, injuring P. 

vii. Hypo: M was passenger in vehicle that negligently ended up in ditch. While others tried to extricate car, M went to top of hill to warn oncoming traffic. While doing so, was injured by oncoming car that skidded on snowy road. Ct found liability. Could argue M’s intervening act of climbing on hill is what injured him – beyond scope of risk. Counter: bc snowing, foreseeable that cars would be skidding and someone could get injured if drove negligently.
viii. Hypo: D’s careless driving resulted in permanently injuring P’s leg. A year later, P was mugged on dark street, and tried to run but was caught half a block later. Seriously injured w/knife. Ct said scope of risk too far removed from D’s negligent conduct.

c. Still prox cause if:

i. intervening cause but the result is foreseeable – prox cause

(1) EXCEPTION: Shifting responsibility – sometimes 3rd party conduct, even though foreseeable, is so egregious that ct will only hold intervener liable. (EXAMPLE?)
ii. Intervening cause but the result is w/in the scope of risk created – prox cause

iii. Ex: bartender serves visibly intoxicated patron, who leaves by car and negligently injures P

iv. Ex: someone negligently leaves keys in ignition and thief steals car and injures another driver
9. POLEMIS case (Directness test applied to type of injury)
a. FACTS: Stevedores moving benzene.  Drop a wooden board into the hold.  Falls 100 feet a good distance.  Wooden ship.  
i. Likely damage is some kind of damage to ship, not fire.
b. ISSUE: whether a defendant who acts negligently can be held liable for unforeseeable damages provided that the negligent act would have resulted in some injury
i. Is it necessary when D is acting negligently to foresee the type of injury that could occur?
c. HOLDING: no, because reasonable that some damage would have occurred and even though type of damage is fire, D is nonetheless liable.
d. Directness approach: liability extends to any harm that flows in an unbroken stream, no matter how unforeseen the damage at the time D engaged in risky conduct.
10. Wagon Mound #1 (Foresight test)
a. FACTS: Wagon Mound ship spilled large quantity of oil into the bay and some concentrated near P’s property.  Manager felt, after asking, that he could safely order activities to be resumed.
i. Likely result of dumping oil is docks could be damaged, and fire(but manager checked this out)
b. ISSUE: whether the D is liable for causing unforeseeable damage when his negligent act caused foreseeable damage of a different type.
c. HOLDING: NO.  fire was unforeseeable.
11. Wagon Mound #2 (Foresight test – remote possibility)
a. P’s challenged evidence and said fire was foreseeable
b. HOLDING: P’s could recover since they had proven that risk being run was a fire.
12. Hines v. Garrett (when 3rd party supervening acts are foreseeable, still liable)

a. Train lets passenger off one mile away from stop in bad area and she’s raped.

b. Railroad says deliberate criminal act of 3rd party supervenes our negligence.

c. HOLDING: because it’s foreseeable that she might be harmed by a stranger, when that risk manifests, they’re liable.  If risk being run is injury by third persons, then liable.

13. Palsgraf v. Long Island Railroad Co.


a. FACTS: P standing on platform of D’s railroad.  Train stopped at station.  Two men ran to catch it.  One reached it and other, carrying a package, did not.  Guards helped him and as they did, the package fell upon the rails.  Package was actually fireworks and exploded and shock of explosion threw down the scales which struck P and caused injuries.

b. Breach of duty: The negligent act by the train employees was helping the guy on the train when the train had already left the station and was moving.

c. ISSUE: Whether this was a breach of duty or prox cause issue, and whether question should go to jury.  

d. HOLDING: P was not foreseeable, therefore rr didn’t have duty as a matter of law, therefore there’s no breach and we don’t get to prox cause.  A defendant is only liable to P’s within foreseeable zone of risk/danger.  “there’s no such thing as negligence in the air.” Cordozo hones is on P’s distance from rr to show P not foreseeable. 
i. HYPO: if package was marked with words “fireworks,” Cardozo would hold that railroad is liable if a reasonable conductor would have realized package is explosive device.

e. GENERAL RULE: In a whole class of cases, you’re liable to persons who are foreseeable and only persons who are foreseeable – persons within the scope of risk.

f. DISSENT: Andrews says foreseeability is malleable concept. You have a general duty to everyone, therefore everyone in world is foreseeable, so rr had duty to P, and question of prox cause should go to jury. Andrews proposes directness test.  Once you’re negligent in one way, liable to all people within the scope of the risk. Factors to consider in prox cause:
i. whether there was a natural and continuous sequence btwn cause and effect

ii. was the one a substantial factor in producing the other?

iii. Was there a direct connection btwn them, w/out too many intervening causes?

iv. Is the effect of cause on result not too attenuated?

v. Is the cause likely, in the usual judgment of mankind, to produce the result?

vi. Or by the exercise of prudent foresight could the result be foreseen? 

vii. Is the result too remote from the cause?

g. Hypo: P dies of an overdose of painkillers he was taking 9 months after slipping on Ds negligently maintained stairs. Ct found jury question as to forseeability of P’s overdose.  Counter: can’t be blamed for P’s stupidity. Death didn’t arise out of actual injury – span was too long. 

h. Hypo: D driver, negligently struck a pedestrian as the pedestrian stepped out from behind a bus. Pedestrian’s body was flung through the air many feet and hit P, another pedestrian. Ct ruled for D. 

14. Wagner (Rescuers are foreseeable)

a. D was a train operator and conductor didn’t close the doors.  Cousin falls out of train and into ravine.  Plaintiff goes to rescue and is hurt.

b. Is the rescuer within the class of persons who the defendant exposed the risk by leaving the doors open?

c. HOLDING: Cardozo holds, as a matter of law, “danger invites rescue.”  Rescuers are to be anticipated so that if a D injures someone, you can anticipate that ppl will rush to the rescue.  Embraced in almost every jurisdiction.

15. HYPO: Car negligently driven by A endangers B, a child in the highway. C, a bystander, dashes out to rescue the child, and is struck and injured by A’s car. C has a claim against A – immediacy. (If too much time has elapsed, though, rescue doctrine might not apply)

16. Kinsman Transit (431) (don’t have to foresee extent of damages)
a. FACTS: 2 ships operating negligently in river.  One ship comes loose and bangs into another ship and both go down the river.  Drawbridge that is negligently operated (fails to raise) gets hit and forms a dam and floods the whole community.

b. Held liable. Reasonably foreseeable bc the conditions that day. The harm that caused injury was the type of harm that should’ve been prevented against by D. (EH?)
II. AFFIRMATIVE DEFENSES (Contributory Negligence, Comparative Fault, Assumption of Risk – impose on D the burden of proof)
A. Contributory Negligence (consists of acting unreasonably in regards to one’s own safety)

1. Elements

a. P negligent towards own safety (D must prove this in the same way, owe yourself an obligation of due care under the circumstances)

b. P’s negligence is a substantial factor in her own harm (causation requirement: the D has to show not only that the P departed from due care towards her own safety, but that the departure was a substantial factor in the P’s own injury)

i. Example: 2 kids go drink and drive. Kid 1 drives negligently and Kid 2 is injured.  Did the passenger’s departure substantially contribute to his own injury?  Was it a causal factor?

2. Contributory Negligence is an absolute defense
a. In a contributory negligence jurisdiction, P gets nothing, it’s a bar to recovery even before you get to affirmative defense.

b. Seems unjust that D would get off completely because P had a little bit of carelessness

3. Exceptions and Limitations:
a. More relaxed standard of care – some of Ps subjectivity is involved
b. Role of jury – most juries rejected judge’s instruction to return a defense verdict if found any contributory negligence
c. Imputing P’s negligence – If mother and 3rd party D were responsible for injury to child, parent’s negligence would be imputed to child and child’s claim defeated. Largely abolished.
d. Last Clear Chance
i. This doctrine says that even though the D was negligent and P was contributorily negligent, in those circumstances where P was contr neg, we’ll give the P one shot if the D had an opportunity to realize the P was being contr neg and could have prevented the subsequent injury.
ii. Example: subway in NY and P got onto tracks.  Conductor feels bump but resets brake instead of checking.  Subsequent injury that could have been avoided was the last clear chance.  Can recover for the enhanced damages, between first bump and death.
iii. Ex: absent-minded P is walking and gets stuck in pothole and D drives along and looks away from road and hits P. D is in better position to avoid accident.
iv. Still used today w/comparative negligence – would allocate partial fault to P. P would satisfy actual cause and prox cause. P placed himself in risky situation and injury was type of foreseeable harm that P’s initial negligence conduct created.
B. Comparative Fault
1. Led by CA Supreme court, jurisdictions abolished absolute nature of cont neg and have now comparative fault.
2. Under this new rule: the P who has been shown to be contributorily negligent is not today totally barred from recovery, but instead the plaintiff’s recovery is diminished in proportion to the plaintiff’s relative degree of fault.
a. In General:
i. Same name – if plaintiff is at fault, plaintiff has been “contributorily negligent”
ii. D must still prove the above elements
iii. What has changed is that it’s no longer absolute – proportionate
iv. A jurisdiction will have either contributory negligence (total bar) or comparative fault (proportionate bar) but not both.
b. How does Comp neg work?
i. First, D must establish that P was contributorily negligent.
ii. Second, jury is asked to determine what percentage of P’s damages are attributable to P’s own negligence
iii. Formula: Take 100% of plaintiff’s losses, and reduce plainitff’s damages by the percentage of p’s losses attributable to plaintiff’s own negligence.
3. What is compared?
i. Under Uniform Act
· Inadvertent v. awareness
· Magnitude of risk, persons endangered, seriousness of injury
· Sig of actor’s goals
· Actor’s superior or inferior capacity
· Particular circumstances such as exigent one
ii. Restatement 3rd (prof likes better)
· Relative character of the risk-creating conduct
· Unreasonableness of the conduct
· Extent to which the risk-creating conduct failed to meet the applicable legal standard
· The causal connection btwn the party’s conduct and the harm
· Surrounding circumstances
· The party’s state of mind
4. Two types of comparative fault schemes:
a. “Pure” – permits P to recover 100% of the plaintiff’s losses less the percentage that P is contributorily negligent. (Uniform Comparative Fault Act – example of pure statutory scheme – no jurisdiction has actually adopted this statute, but different provisions embraced.  Influential)
b. Modified – Recovery barred if P’s cont neg is greater than 50%.  
i. Not “Greater than” 50% (if 50/50 you recover)
ii. “Less than” 50% (if 50/50 you don’t recover)
c. comparative contribution – contributory damage in proportion to fault
5. Multiple Defendants – compare plaintiff’s negligence against the group of others, or against each individual defendant?
a. Majority Approach: Combined most jurisdictions say to compare to all defendants.
b. If have 10 D’s and each has 5-10% and P has 20%, P gets to recover against everyone.
6. Comparative Negligence HYPOs
a. P – 30%, D1 – 60%, D2 – 10%
b. In pure as well as impure, P can recover 100,000 less 30%, so 70,000.
c. If D1 is insolvent, can P recover full amount from D2?  J and S liability question.
d. ARGUMENTS on Both Sides:
i. In favor of allowing recovery from D2: (J and S liability)
(1) But for D2’s negligence, he’s a tortfeasor, P would not have been injured
(2) P was merely careless for own safety, shouldn’t prevent P from recovering.
(3) D has acted tortiously and D2 in absence of D1, should be required to pay 70k.
(4) Force D2 to deal with separate action suit with D1.
ii. Other side: (several liability)
(1) Jury has only adjudicated 10%, why should I pay whole amount
(2) Moral argument: punishing them more.
e. Set-offs – damages set off from each other and parties get full recoverable amt
i. rationale is insurance: don’t want to allow insurance companies from getting away and not paying coverage damages for which insureds have already paid premiums (windfall)
ii. Must be in statute (check)
f. Avoidable consequences
i. Rule: P cannot recover for negligently inflicted damages that she could have avoided or minimized by reasonable care.
ii. P has a responsibility to mitigate damages
iii. Not a causal inquiry – deals w/how to apportion fault

iv. Ex: P gets injured, sees doc who tells him to take antibiotics, bc if he doesn’t will have to be hospitalized for another 4 weeks. P doesn’t. This is avoidable consequence – D will not be liable for additional hospitalization

v. Ex of NO AC: If P’s harm is due to multiple causes that are indistinguishable – like twin fires hypo. This is issue of causal apportionment. 

vi. Ex of No AC: Asbestos and smoking case. Not AC bc even if P stopped smoking, asbestos would’ve killed him anyways. Both are causes and are inextricable.
7. Fritts v. McKinne
a. FACTS: Fritts and Manus had been drinking.  Fritts suffered serious injuries.  While D doctor was performing tracheostomy, Fritts died.  P claims that D negligently failed to identify and isolate proper artery.  D claimed artery was anomalous and asserted CN defense cuz p had been drinking.
b. ISSUE: whether contributory negligence can defeat a medical malpractice case. NO.
c. HOLDING: submission of CN was error. 
d. Limited circumstances where patient conduct can be considered in medical negligence cases: Where fails to reveal medical history, false information, failure to follow advice, delay or failure to seek further medical attention.

e. A physician may not avoid liability for negligent treatment by asserting that the P’s injuries were originally caused by the P’s own negligence.
f. Policy: if allowed this, doctors wouldn’t be responsible for anything they did if they could bring such evidence into consideration. If can’t rely on med help even if it’s our own doing, then there’d be no safety valve for anyone
g. Counter: incentive for ppl to take care of themselves. Deters unhealthy behavior.
C. ASSUMPTION OF RISK
1. Express Assumption of Risk (clear and unambiguous written or oral permission to release another party from an obligation of reasonable care)
a. Limitations on express A/R:

(1) Recklessness/intentional wrongdoing
(2) Public policy (Tunkle factors)  e.g. even if P consented, policy reasons why shouldn’t enforce agmt?
b. Application:
(1) School sports?
(2) Medical care?
(3) Parachute jumping?
(4) Athletic competitions?
2. Implied Assumption of Risk (Note: Judicial Implication)
a. Elements
(1) Knowledge – Plaintiff must subjectively know, appreciate, and understand the risk of harm created by defendant’s conduct; and
(2) Plaintiff must voluntarily subject himself to the risk
b. Shorthand: Knowledge and “Consent”
c. Subjective knowledge requirement is different from contributory negligence because in CN, P’s conduct will be judged by objective standard.  In AR, must subjectively know.
d. At common law, implied assumption of risk was a COMPLETE DEFENSE.  This has changed with the advent of Comparative Fault.
3. Implied Assumption of Risk – 2 types:
a. Three Elements (subjective standard) Burden of pleading and proving A/R rests on D:

(1) Actual knowledge of the risk

(2) Appreciation of the risk

(3) Voluntary exposure to the risk
b. Primary – modifies the DUTY defendant owes plaintiff 
(1) E.g.: negligence in sporting events (cases involving risk in games and sports)

a. Knight v. Jewett – duty to avoid intentionally or recklessly injuring another. 
· Cts don’t want to chill sports activity
· To avoid altering the fundamental nature of the activity
· Compare w/Lestina – reasonable play under the circumstances (stricter)
b. Skydiving
c. Baseball stadiums. Screens behind home plate, but D has no duty beyond this. Ps know of risk and voluntarily went to game and assumed risk. D, based on policy, should not be liable if spectator gets injured by fly balls. Arg that legislature should try to protect stadium operators – sports impact economy
(2) If certain kinds of risk are inherent, court may define as primary and alter duty owed to P with respect to those risks.  If D can persuade risk is primary, then duty is narrow
c. Secondary – remains as an affirmative defense in most jurisdictions but is now a proportionate defense in most jurisdictions. Comparative negligence applies.
(1) E.g. – Davenport
4. Dalury v. S-K-I 
a. FACTS: P collided with metal pole at ski resort.  P signed a form releasing D from liability.
b. Court purports to use Tunkl rule (in Tunkl, P signed a waiver at hospital)
i. TUNKL FACTORS: An agreement is invalid if it exhibits some or all of these characteristics:
(1) Concerns a business of a type generally thought suitable for public regulation
(2) Party seeking exculpation is engaged in performing a service of great importance to the public, which is often a matter of practical necessity for some members of the public
(3) General open invitation – holds itself as willing to perform service for any member of public
(4) Bargaining strength disparity: party invoking exculpation has decisive advantage in bargaining strength
(5) Adhesion contract: makes no provision for purchase to pay additional fees and obtain protection against negligence.  Confronts public with standardized adhesion contract
(6) Person is placed under the control of the seller and subject to the risk of carelessness by the seller
ii. 2nd factor is most important to Vermont Court – Court says it becomes a public policy issue.  Even though skiing is not a necessity, going to treat it as such. 
iii. Holding: Exculpatory clause void. D’s resort is open to the public and D advertises and invites visitors.  When a substantial amount of sales transactions (tickets) takes place as a result of the seller’s general invitation, a legitimate public service arises.  D owes its customers the same duty as any other business to keep its premises reasonably safe.
c. This is not about inherent risks (risks inherent- wind in ears while skydiving, startling of horse from horseback riding)
d. POLICY for overturning agreement 
(1) Ski operators won’t be incentivized to manage risks
(2) Moral argument: skiers have no capacity to control for risk
(3) Capacity to spread the loss, don’t want to subsidize
(4) Mt exercises a lot more control of premises, and anyone who wants to use it has to submit to all terms
e. Policy on the other side:
(1) Moral argument: they signed their name – signed away liability.  
(2) Incentive skiers to become more cautious with safety; 
(3) disincentivize from operating business, excessive liability.
(4)  If these Ks aren’t honored – floodgates for limitless liability.
(5)  Consumer has choice – maybe pay less for season pass and forgo additional protection.
(6) Ppl have insurance – or want to encourage ppl to have insurance
(7) Suits should be deterred bc no one would be able to ski unless pay tons of money – society loves to have access to activities like this and like the lower price, so willing to take the risk
5. Hamelin case (Vermont case)
a. Vermont SC allows the business enterprise to shift the liability for the premises to an independent contractor.  Business contracting for services and independent contractor for services.
b. In this case, court emphasizes the importance of equivalent bargaining power.
6. Leon case (P hurt when sauna bench collapsed, had signed exculpation agreement)
a. Court is distinguishing procedural defects.  
b. Said the release was ineffective because it was between 2 clauses, didn’t call P’s attention to it.  
c. Drafting contracts: if ambiguities, then void contract.  Must be clear and definite, not ambiguous.
d. If procedural defect, court inclined to overturn it on procedural grounds
7. Murphy v. Steeplechase Amusment Co. (knowledge of risk)
a. FACTS: P rode “the flopper.”  Watched other people fall.  Injured kneecap
b. Cardozo: inherent risk that plaintiff saw others falling and recognized there’s a risk of falling. Focuses on the jerking of the ride – just part of the ride
c. Rule Cardozo uses is that must have knowledge of the risk.  If you don’t seen the trip wire, then don’t have knowledge.  Distinguishes known, observed risks from unknown, unobserved.
i. Trap for the wary
d. Cardozo also says: if obscure or unobserved, or so serious as to justify the belief that precautions of some kind must have been taken to avert them, then a different case.
e. Policy analysis: decide that some risks we’re going to let people take because they’re inherent.
f. Aside: limit liability bc want to be able to have these rides. Would have to shut down skating rinks, etc., and we as a community want them
g. Aside: If arguing for P, would argue jerk not part of the ride by showing jerk more dangerous from where P was standing, exposing him to unreasonable harm
8. Davenport Case

a. FACTS: P took middle stairs even though no floodlights. Reported it to D for some time.  Fell and was hurt.
b. Apt building has duty because P is invitee.  Breach is failing to fix lights.
c. Actual cause question met here: one could infer that flood lights had they been present would have avoided his injury.
d. D could also have CN defense – an RPP would not have gone down middle stairway.
e. ASSUMPTION OF RISK
i. 4 part analysis that South Carolina has:
(1) P must have knowledge of the facts constituting the dangerous condition (lack of lights)
(2) P must know condition is dangerous (complained to management)
(3) P must appreciate the nature and extent of the danger (complained to management)
(4) P must voluntarily expose himself to the danger (went down the stairs)
ii. If D can establish this, then absolute bar.
f. ISSUE: whether a plaintiff should be completely barred from recovery when he voluntarily assumes a known risk, regardless of whether his assumption of that risk was reasonable or unreasonable.
g. SC Supreme Court is considering whether to change the longstanding rule.  Should we adhere to the longstanding rule of absolute defense or should we change that in light of having embraced comparative fault?
h. Rhode Island v. West Virginia
i. RI – they’re two separate defenses so we treat them differently.  AR depends on free will and CN has nothing to do with free will.
(1) RPP standard (objective) – use this to determine CN
(2) Knowingly (subjective) – use this for AR.
(3) Argument is since these two defenses are so different, it doesn’t affect the relative balance within a CN regime in terms of comparative fault.
ii. WV – don’t disagree that they’re different defenses, but want to apportion fault.
(1) We adopted comparative fault because of certain policies.
(2) POLICY: as between two negligent parties, the one who has primary negligence should pay at least a portion of the loss as against another person who is not negligent but merely has assumed the risk and we should diminish that recovery by a % that the jury concludes.
i. Court says AR and CN as defenses overlap in a significant number of instances.
i. What is compared is D’s negligence against P who acted unreasonably toward his own safety by voluntarily encountering the risk.
ii. Court holds that we adopt a proportionate defense only for secondary assumption of risk.  E.g P assuming risk, whether reasonable or unreasonable, will be considered under comp fault regime. That leaves primary assumption of risk, not as an affirmative defense, but operates to change duty.
iii. Implied Secondary unreasonable risk – possible defense (conduct evaluated under comparative negligence doctrine) (CHECK)
iv. Implied secondary reasonable risk – not a defense. Conduct treated as reasonable under comparative negligence doctrines. (CHECK)
9. Knight v. Jewett (472)
a. FACTS: P playing football with friends.  Guy steps on hand even after P warned him to play less rough.
b. Court says this is not a case of secondary risk.  This is a primary risk because it’s inherent in the activity.
c. Court says yes, there’s AR, but going to use it to reduce level of duty owed to plaintiff.  For recreational sport activities, no longer a negligence duty.  Standard of care changes.
d. Liability flows only if the participant intentionally injures another player or engages in conduct that is so reckless as to be totally outside the range of the ordinary activity involved in the sport.

e. Not an affirmative defense.
10. Firefighter’s Rule: more like primary A/R cases.

a. Roberts v. Vaughn

i. FACTS: P was volunteer firefighter.  P was injured at accident by someone kicking.
ii. Firefighter’s rule:  No duty is owed for ordinary negligence when professional safety officers are confronting dangerous/emergency situations to protect the public.
iii. When in the course of responding to an emergency are injured by the very risk for which they are called to rescue.
iv. Court says people were hired, know the risk, and taxpayers in community decided we need them to rescue and know there will be negligence.  Have firefighter’s rule to avoid those lawsuits.
v. Negligent person does not owe the same duty to professional rescuers.
b. Levandski: a rule of premises liability, firefighters and police officers are licensees
c. Zanghi: no recovery when injured by hazards from risks that existed bc of the position for which they were hire
III. JOINT AND SEVERAL LIABILITY REVIEW

A. When 2 parties are acting and when there is an instance of joint causation, it is possible that a court will impose J and S liability holding each of them liable on grounds of “but for” their negligence P would not have been injured.

1. A single defendant who is a but for cause, whose negligent acts proximately caused the injury, could be held liable for entire sum even though there’s another D out there.
2. Li case – where a P whose contributory negligence is a but for cause is not disabled from getting recovery, permitted to recover a portion.
3. LI – how to apportion losses between the CN plaintiff and negligent defendant
4. AMA – how to apportion losses between 2 or more negligent defendants
a. AMA rejects contention that J and S liability should be abandoned because have a mechanism of apportion losses between a set of negligent D’s and a CN plaintiff.
b. Question AMA poses: now that P is out of the picture, can we apportion losses between 2 or more defendants, and if so, how should we do that?
B. REVIEW: J and S Liability and Apportionment Rules

1. Apportionment: Generally, a P is required to apportion her losses among multiple D’s.  
a. Example: If X runs over P’s arm and Y runs over P’s leg, P ordinarily is able to obtain only several liability against each defendant.  Thus, P must obtain compensation for her arm injuries from X, and for her leg injuries from Y.  If Y is insolvent, P has no recourse
2. Exceptions: to the general rule of apportionment (where J and S liability applies) include instances of joint causation and concurrent tortfeasors:
a. Examples:

i. X and Y are two car drivers on highway, and each drives negligently.  P is injured.  X and Y are jointly and severally liable.
ii. A worker on a construction site negligently leaves an excavation unguarded.
(1) A bicyclist negligently operating her bike on the sidewalk bumps into P, knocking him into the excavation.  If the excavation had been guarded, P would not have fallen into pit.  The Construction Co. and Bicyclist are jointly and severally liable.
iii. Railroad X negligently starts a fire on its property.  Farmer Y negligently starts a fire on his property.  Both fires spiral out of control, and join together to burn down P’s house.  X and Y are J and S liable to P.
IV. STRICT LIABILITY

A. Duty – is the activity abnormally dangerous? Breach – did D engage in that activity?

B. There are negligence-type doctrines within the strict liability torts.

C. If SL – P does not have to show D was at fault for causing injury. Wrongfulness of D’s conduct is irrelevant.

D. Traditional SL – ultrahazardous activities, abnormally dangerous activities

Fletcher v. Rylands
1. FACTS: D was large textile manufacturer and was operating mill in traditional coal mining district and hired engineers to store water to power mill. Water escaped through old mine shafts unknown to D and flooded mineshaft of P.
2. ISSUE: should the defendant be held strictly liable for the flooding.  HOLDING: YES.
3. DEFINE HOLDING FOR FUTURE USE:
a. Blackburn: If any landowner that brings anything onto their land that causes mischief, that D is strictly liable for damages that it causes. Only liable for damage to neighbors, not public land.
b. Cairns: If own land, don’t have absolute right to do whatever activity you want to do. D has right to use prop in a natural way.
4. Cairns distinguishes between natural and unnatural use of land – arbitrary.

5. Blackburn analogies:

a. Escaping Cattle: can say this is about controlling wild animals.
b. Cellar invaded by filth from neighbor’s privy: can say about public health- risk of disease
c. Alkali works: can say about nuisance
E. TURNER case 

1. Similar to Rylands, but the court said, in England it’s unnatural to build a reservoir, whereas here in Texas, where we don’t have much water, we naturally must store water.

2. This distinction between natural and unnatural doesn’t get you very much.

F. Blasting Cases
1. Sullivan v. Dunham – D was blasting on his prop and P pedestrian passing by was killed.
2. Distinction btwn debris and concussion. Concussion = shaking and vibration from blasting. Debris is something physical that ejects from explosion and injures someone
3. Ct says SL is like a trespass. Situation of debris like trespass – P doesn’t have to show intent or fault bc there’s actual physical intrusion. Causation – direct harm. Concussion = indirect harm.
G. Losee – steamboiler explodes. Ct says SL shouldn’t apply bc accidental while blasting is intentional. But doesn’t make sense – SL should apply regardless of intent or accident.
H. An activity is subject to SL if:

Rest. 3d § 20. Abnormally Dangerous Activities (RULE)
(a) An actor who carries on an abnormally dangerous activity is subject to strict liability for physical harm resulting from the activity.
(b) An activity is abnormally dangerous if:
(1) the activity creates a foreseeable and highly significant risk of physical harm even when reasonable care is exercised by all actors; and 
 -if P can take significant steps to take care, activity less likely to be considered abn. dangerou
(2) the activity is not one of common usage.

A. INDIANA HARBOR v. AMERICAN CYANAMID
1. D (chemical manufacturer and shipper) is sued by P (urban railroad yard) when a tank car carrying hazardous chemical leaks 4000 gallons on the ground of its yard costing $1M in cleanup.  Acrylonitrile is highly flammable and toxic.

2. Shipper: the party who places X in the stream of commerce

3. Indiana Harbor – Plaintiff – switching line

4. Judge makes the decision as to what class of activity makes it ADA.  

5. Rule according to POSNER: if it satisfies the six factors of Restatement, then impose SL.

a. MOST IMPORTANT FACTOR according to Posner is 3) inability to eliminate the risk by reasonable care.

b. Posner’s argument: look at whether or not due care would have prevented the event in this case.  He looks at this case and says there’s evidence that somebody must have been negligent, therefore premature to impose SL.

6. Posner is imposing loss on switching line. Here, problem could’ve been solved with due care, so don’t need SL

7. Posner thinks SL is justified if activity presents such a high risk of harm that you can’t avoid risk of harm w/reasonable care. Gives D economic incentive for dropping the activity or reconsidering a diff approach – e.g. seek out safer alternatives  

B. RESTATEMENT 2ND SECTION 520 (six factors to identify when class of activity is subject to SL)(ADA)
1. Existence of high degree of risk of harm

2. Likelihood that harm that results will be great

3. Inability to eliminate risk by reasonable care

4. Extent to which activity is not a matter of common usage

5. Inappropriateness of activity to place where it is carried on

6. Extent to which its Value to the community is outweighed by its dangerous attributes
C. When thinking about when to apply SL, when activity is abnormally dangerous, want to consider 2 elements:

1. is the activity presenting an unreasonably high risk of harm that can’t be prevented by following another course of action?

2. What is common usage and how can you argue that something IS common usage (so would have to apply negligence, not SL.

· Ex. of airplane crashes. Cases of planes crashing and injuring peeps on ground

· Use of airplanes is common usage therefore SL should not be applied to planes that malfunction and crash

· Counter – even though airplane usage is common, malfunctioning and crashing into ppl on ground is not common and therefore SL should apply
D. Policy Goals of SL
1. Movement towards enterprise liability – enterpriser/D should have incentive placed on them to take highest safety precautions bc they’re the cheapest cost avoider. Goal of deterrence – loss avoidance on D

2. Administrative efficiency – reducing litigation in torts

3. Fairness – when other party has more control, should impose SL

4. Individual autonomy - whoever caused the harm is responsible irrespective of fault

5. Kaldor-Hicks Efficiency



Person A
Person B
Total wealth

Rule 1
        50

    50

100

Rule 2
       101
     0

101

Note: Rule 2 is more efficient than Rule 1 because we care about total wealth, not its distribution between Persons A and B
6. Coase Theorem - In the absence of transaction costs, the parties will bargain to an efficient allocation of resources regardless of the underlying legal rule.
7. Calabresi earlier formulation for achieving tort efficiency: To promote efficiency in tort law, place liability on the party who can avoid accidents at the least cost, termed the cheapest cost avoider.

8. Calabresi later formulation:To promote efficiency in tort law, choose the tort rule that minimizes the sum of: Precaution costs +Accident costs +Administrative costs
9. Comparing negligence and SL on efficiency grounds

a. Both negligence and strict liability induce potential injurers to take care.
b. Additional advantage of negligence: it may induce potential victims to take more care because of “residual liability.”
c. Additional advantage of strict liability: it forces potential injurers to consider not only how careful they are, but also how much of an activity in which they will engage (activity level effects).

I. PRODUCTS LIABILITY (focuses on product, not on behavior of D)

A. Rule of Privity

1. Winterbottom is rule of privity:

a. Mfr of a carriage and there was defect in carriage.  Sold carriage through a contract to the postal service which used it for transporting mail and passengers.  The postal service entered into contract of transport for patrons.  Carriage broke down and someone is injured.  Bystanders are injured.  
b. Court held that when there was a defect in the carriage, the only person who could sue for injuries was someone in privity of contract.  
2. This rule eventually is destroyed.
B. Three separate approaches to Products Liability:

1. Negligence rule

a. says basically that if you an injured person can establish that someone manufactured a product that injured you and they acted unreasonably in manufacturing the product, you may recover
i. Foresight rules that limit recovery to foreseeable persons/victims.
ii. Privity in general is no longer a problem, the ordinary negligence rules apply, the limitation as to whom you may sue is the Palsgraf limitation so long as the person is within the class of people exposed to the scope of the risk being run.
2. Implied Warranty of Merchantability

a. Strict Liability theory – still available but there are privity limitations.  Contract theory of recovery.  Common way to recover, not damages on the contract, but for personal injuries.
b. Ryan v. Progressive Grocery Store – pin in loaf of bread and husband gets severely injured. P argues that warranty of merchantability breached.  No privity btwn husband and store, though. Ct got around this by saying wife was agent of hubby. “one of the hazards of the business.” Store should internalize cost of injury.
c. Limits to warrant liability
i. Warranties are Ks, and the nature of Ks are privity relationships – so what’s meaning of warranties when we reject privity and expand notions of warranties to anyone/everyone injured by prods?
ii. Warranties normally protect against price of defective prod whereas torts damages are huge – deals w/injury to person. Application of warranty doesn’t fit adequately into tort suits.
3. Restatement 2nd § 402A SPL
a. Requires the four elements of the prima facie case.

b. Most important element is the defect.
4. (Physical harm – same as negligence – has to establish this under 402A)
C. Prima Facie case of Products Liability under the Restatement 2d §402A (1966)

1. Defendant is in the

a. Business of selling
b. Products for use or consumption, &

c. The product is expected to and does reach the consumer without substantial change.

d. (This part does not establish SL for services.)
2. The product is in a defective condition.  There are three alternative types of defects.  Plaintiff must prove one of the following

a. Construction,

b. Design, or

c. Inadequate Warning

3. [The product is unreasonably dangerous to the user/consumer or to her property.]

a. Barker has eliminated this requirement.  Said redundant and unnecessary to prove that there is a defect and that defect was unreasonably dangerous.  If defect, that’s sufficient.
b. This is no longer part of prima facie case in CA (though still part of Rest and other jurisdictions use it)

4. The defect results in:

a. Physical harm to the user or consumer or foreseeable bystander

b. Or to her property (but not to the product itself)

c. This part sets forth the causation and damage elements and circumscribes who may bring suit under §402A.
D. Questions to consider:

1. Who’s D? Manufacturer, seller, or distributor
2. Is the product defective?

· Manufacturing

· Design

· Inadequate warning

3. Did the defect cause P’s injury?

· Did prod actually cause P’s injury (actual link btwn prod defect and injury)

· Whether the prod was used in intended or foreseeable manner? If foreseeable, prox causation can be established

· Who’s P? User, consumer, bystander?
E. PRODUCT DEFECTS: There are three types of defects.  Plaintiff has burden/must prove one of the following defects to satisfy prima facie case:

1.  Manufacturing Defect

a. A product is defective in construction if it departs from its intended design.

b. 2nd Restatement - Was the product in a defective condition “unreasonably dangerous” to users or consumers who are injured by product?

c. 3rd Restatement - Did the product contain a defect that “departed from its intended design even though all possible care was exercised in the preparation and marketing of the product”?
d. A failure in the manufacturing process such that the manufacturing of a single instance of a product did not conform to the blueprints.

e. Examples: box of Cheerios with mouse droppings; beer with rat’s head; can of tuna with metal slivers; glass that has chip in it.

f. SL will be applied

g. Evidentiary probs (Escola case)

2. Design defect.  There are two alternative tests.  Both focus on the product (not on the defendant’s behavior – as in negligence):

a. 2nd Restatement -Was the product in a defective condition “unreasonably dangerous” to users or consumers who are injured by product?

b. 3rd Restatement - Was there a reasonable alternative design that could have reduced or avoided the foreseeable risks of harm posed by the product and the omission of the alternative design rendered the product not reasonably safe?
c. Consumer expectation test:

i. A product is defective under the CET if it “fails to perform as safely as an ordinary consumer would expect when used in an intended or reasonably foreseeable manner.”

ii. Doesn’t take into acct prod consumer chose and paid less for v. more expensive prod that’s safer (CHECK)
d. Risk-Utility test: (these factors are a return to negligence)

i. A design is defective “if through hindsight the jury determines that the product’s design embodies ‘excessive preventable danger,’ or, if the jury finds that the risk of danger inherent in the challenged design “outweighs the benefits of such design.”

ii. If jury finds that the risk of danger inherent in challenged design outweighs the benefit of such design

iii. Factors to be considered include: (Barker factors)

(1) The gravity of the danger posed by the challenged design

(2) The likelihood that such danger would occur

(3) The mechanical feasibility of a safer alternative design (some crts have required this as element)

(4) The financial cost of an improved design

(5) The adverse consequences to the product and to the consumer that would result from an alternative design.

iv. Exceptions
(1) O’Brien case. When prod is considered irreducibly unsafe. Known and obvious danger but no RAD. Manifestly unreasonable design. D will be liable. Statutorily overruled:
i. No liability when there is no “practical and technically feasible alternative design that would have prevented the harm w/o substantially impairing the reasonably anticipated or intended function of the product.”
ii. Liability only if:

· Product is egregiously unsafe/ultrahazardous 
· Ordinary consumer cannot be reasonably expected to know the risks…
· The product has little or no usefulness.
(2) Malfunction theory: Inferring defect from circumstantial evidence

· Section 3 of the 3rd Restatement, pg. 594:

It may be inferred that the harm sustained by the plaintiff was caused by a product defect existing at the time of sale or distribution, without proof of a specific defect, when the incident that harmed the plaintiff:

i. was of a kind that ordinarily occurs as a result of product defect; and

ii. was not, in the particular case, solely the result of causes other than product 
   defect existing at time of sale or distribution.
· P can use provision when clear design defect could cause damage and other responsible causes can be eliminated

· Similar to CET – eliminates need to have more rigorous proof of defect

· Test based on what P should’ve expected

· Diff btwn this test and CET – D can rebut showing of defectiveness but straight CET wouldn’t allow D to rebut consumer expectations
e. RAD - Reasonable Alternative Design 

(1) if RAD that D didn’t employ, then liable for P’s injury

(2) cost-benefit analysis? (CHECK)
(3) Factors to consider in evaluating an RAD
i. magnitude and probability of risk
ii.  instructions and warnings accompanying the product
iii. nature and strength of consumer expectations, including expectations based on marketing
iv.  relative advantages and disadvantages of the product and its alternatives, including product longevity, maintenance, repair, and esthetics; and the range or consumer choice among products, etc.

3. Inadequate Warning: 4 separate questions: Standards are taken from MacDonald and incorporate elements 2 and 4 of prima facie case.

(1) Is a warning necessary?

(2) Who is to be addressed by the warning? 

· The ultimate user, most affected by the product and expected to use the instructions or warnings to avoid harm.

(3) Is the warning adequate?

· Adequate in content

· Increases safety of product

· Adequately communicated (presentation)
(4) Would the user heed the warning if adequate?

· Presumption that user would have heeded the warning if adequate that D must rebut

· Why? Powerful incentive to manufacturers

(5) Must the warning address risk of injury from product misuse? 

·  Yes, if use was “unintended but reasonably foreseeable” or “objectively foreseeable.” 
F. Cronin Case – trays inside truck hit driver. Ct wanted to make sure Ps could be protected even if use prod in fashion not intended. Eliminated “unreasonably dangerous” language in CA prod liability law. Made it so P can recover for prod injury if used prod in intended OR reasonably foreseeable manner.
G. BARKER CASE – KEY CASE KNOW BY NAME (561)
1. FACTS: Construction site – uneven sites.  Lull High Loader.  P is employee of contractor using this device to move load of lumber.  Lull tips over and it’s a question of improper design.
2. Argument: unsafe for the purposes of moving heavy lumber and bricks
a. 2 problems: should have had outriggers and should have a device/cage if tipped over.
3. Supreme Court said there are 2 test:  see above – CET and R-U

4. Gives us the factors for the risk utility test.

5. Applies to all PL cases – manufacture, design, and warning

H. Welge case

1. Planters peanuts – jar collapses in his hands.  Designed properly, but flaw in this particular jar.  
2. A seller who is subject to strict products liability is responsible for the consequences of selling a defective product even if the defect was introduced without any fault on his part by his supplier or by his supplier’s supplier.
I. MacPherson (no more privity rule, now foreseeable)

1. FACTS: Mfr is Buick and sells car to retailer and retailer sells it directly to purchaser/consumer.  When P was in the car, it collapsed and he was thrown out and injured.  One of the wheels was made of defective wood and its spokes crumbled into fragments.  Defendant did not make the wheel; it was bought from another mfr.  There is evidence that defects could have been discovered with reasonable inspection, and that no inspection was made.
2. Breach was failure to inspect.  
3. Plaintiff has to establish that but for the manufacturer’s failure to inspect the component parts, the plaintiff would not have been injured.
4. Prior to MacPherson, duty to inspect would have been owed just to retailer under privity of contract.
5. CASES before MacPherson – abrogation:
a. Winchester – falsely labeled poison where P was injured. Pharmie held liable bc poison is inherently dangerous and will put someone in imminent harm
b. Devlin case – built a scaffold for a painter – contractor entered into contract to build a scaffold and the scaffold was defective.  Contractor’s argument: “I owe a duty only to person I had contract with – the painter”
i. Court held that contractor still owed duty to the workers even though scaffold not inherently dangerous
c. Statler case – defective coffee urn – exploded and injured plaintiff in restaurant
i. Court held that mfr was liable because the coffee urn, if it explodes, it’s going to injure anyone around including customers. Coffee urn isn’t inherently dangerous, though.
6. Cardozo says attempt to limit exceptions (by saying that products are inherently dangerous) doesn’t work because any product that has a defect can in itself be a thing of danger.
7. Cardozo imposes different rule – foreseeable persons: people foreseeably injured by a defect in the product.
8. Privity eliminated
9. “If to the element of danger there is added knowledge that the thing will be used by persons other than the purchaser and used without new tests, then irrespective of contract, the manufacturer of this thing of danger is under a duty to make it carefully.” pg. 552

J. Escola v. Coca Cola – coke bottle broke in P’s hand
1. Manufacturing defect case

2. Justice Traynor is concurring in an opinion that imposes negligence liability upon not the mfr of a bottle, but the coca cola bottling company which is the seller of a product. (says mfr shouldn’t be liable bc did all these infallible tests)
3. When you sell a product, you also sell its packaging.
4. Court lets P invoke RIL. But RIL not really established here – difficult to pinpoint negligence to bottler – bottle was sitting around and handled by other ppl, so exclusive control is difficult to establish. Elements of RIL:
· Accident doesn’t occur w/out negligence
· Exclusive control
· All other responsible causes have been eliminated
5. Traynor says let’s stop hiding the ball – what we’re really doing is applying SL. Lays out arguments for SL applying in these kinds of cases:
· SL might fxn better as deterrence than negligence standard. Manufacturer in better position to anticipate/prevent harm
· Loss spreading (cheapest cost avoider). Insurance might be available to manufacturer and not public so manufacturer better equipped to spread cost

· Fairness – ppl in public don’t have much info except what manufacturers tell them about the prod. How can consumers protect themselves from injury?
K. Subsequent Developments – some courts begin to use the SL duty owed from retailer to direct purchaser and expand the privity and initially, under warranty theory.
1. Greenman (551) – P sues mfr directly.  Traynor says going to impose SL on mfr and hold them in tort SL when he places on the market, knowing that it is to be used without inspection and proves to have a defect that causes injury to a human being. Cost should be bourn by mfr, not injured party
2. Vandermark (551) – P sues mfr Ford and retailer Bell Ford for warranty and negligence.  Jury finds that retailer is not negligent.  Holds that the warranty count against Ford must be maintained.  Putting pressure on mfr to make the mfr the locus of responsibility for defects.
3. Elmore (552) – Bystanders are able to sue, those not in privity w/ seller. 
· Class arg for this – bystanders, more than consumers, should be entitled to lawsuit against manufacturers. Bystanders are in less of a position to be able to prevent against the injury by doing their own inspections or whatnot – completely unaware of harm that might befall them
4. Once remove privity requirement, the restaters saw these developments and came up with the Rest of Torts 402A. In practice works as SL
5. Lessors are generally included along w/retailers where SL does apply
6. Franchisers in some instances
7. Successor co in a few jxns
8. Used sellers generally not liable for defects in product – not in the original chain of dist. Not in position to put market pressure on the optimal condition of prod.
L. NOTES - PL

1. Products liability doesn’t apply to used vehicle selling businesses.  402A is usually for new products.
2. Products – meaning not a service.  So if contractor does a bad job, have to prove negligence.
3. People who supply parts may or may not have liability, often they will.
M. SOULE CASE (about CET)

1. FACTS: P was not wearing her seat belt.  P’s ankles were badly injured when her GM car collided with another vehicle.  She is suing GM asserting that design defects in the car allowed the left front wheel to break free, collapse rearward and smash the floorboard into her feet.  GM denied any defect and claimed that the force of the collision itself was the sole cause of the injuries. Issue of whether to use CET or risk utility test
2. Args: P wants to use CET test – w/in P’s ordinary expectations that if there’s a crash, floor board won’t go up and crush ankles. P says total aberration that any ordinary purchaser should not expect. D wants to argue risk-utility should apply. Can put up own experts, can do hindsight analysis and say couldn’t have known defect existed. Can compare how they create the design and the utility of it – producing car for benefit of the consumer. Consumers are paying particular price for car that doesn’t have all the safety design features as a Volvo. 
3. HOLDING: As a general matter, we will allow the plaintiff to prevail to use the consumer expectation test but only in those instances where the minimum safety is within the common knowledge of lay jurors.
a.   If need expert witnesses, must use risk-utility test. Here, too many complications w/car design and technicalities and experts necessary. 
b. Criticism of CET: vague, amorphous, too much discretion to jury.  Consumers are unrealistic and not going to look at technical aspects.  Too much power to jury to find products defective.

c. Court rejects contention of overturning the CET altogether.
4. Note: Aspect of CA approach in applying risk-utility is disadvantageous to D – Burden is on D to actually show this balancing and show prod was not defectively designs. Rationale – if place burden on D, more evidence will come out that P is not empowered to get on their own.

5. Note: In other jxns, burden remains on P to prove their case. P has to show there’s RAD and get a expert to come up w/a RAD. Diff w/ CET – can use ambiguities to lend itself to convince juries.

6. Compare R-U w/Hand formula and negligence standard. D can weigh the risks and benefits and choose the precaution that has best cost maximization. But w/R-U, if any alternative that was safer that D didn’t take – they’re liable.

7. Note: Q up in air as to whether CET applies to design defects. Where CET might apply: vehicles designed so as not to explode while idling at stop lights.
N. Pruitt: P is hurt when airbag deploys in “low impact collision.”

1. Before Soule, could have gotten to test this under CET.  Trial court refused to instruct jury on CET.

2. P would have to go through risk utility factors.  Deployment of airbag is not within the everyday experience of the consuming public.

O. O’Brien case 570 Exception to r-u test? (CHECK)
1. When prod is irreducibly unsafe. Known and obvious danger but no RAD.

2. Whether we should require proof of an alternative safer design.

3. 3 feet deep above ground pool.

4. P was not able to produce an RAD.  Court in NJ said it’s not a prerequisite to recover that the P establish there’s a reasonable alternative design.  It’s sufficient that the challenged design is ultimately decided as defective. Looks like SL.
P. Camacho v. Honda Motor Co. (raises issues re: the design test and ‘open and obvious’)
1. FACTS: P bought Honda motorcycle.  Didn’t have crash bars and P injured legs in accident.

2. Crashworthiness doctrine: a motor vehicle manufacturer may be liable in negligence or strict liability for injuries sustained in a motor vehicle accident where a manufacturing or design defect, though not the cause of the accident, caused or enhanced the injuries.

3. ISSUE: does a manufacturer have to design a vehicle anticipating that it might be involved in a crash?

4. RULE: manufacturer must provide some measure of reasonable, cost-effective safety in the foreseeable use of its product
5. Automobiles are intended for use on roadways and injury-producing collisions are frequent, foreseeable, and statistically expectable result of such normal use
6. Issue of open and obvious: Honda says, it’s obvious when you look at motorcycle that it doesn’t offer leg protection.  Therefore as a matter of law, you can’t claim the product is defective in that fashion.

a. Court says: we don’t want to adopt this open and obvious argument as a matter of law, want to leave it up to the jury.  Need to still test under risk-utility test.

b. D doesn’t necessarily lose, the absence of the leg guards has to be tested under RU test.

7. Policy: rejection of design defect claims in all cases where danger may be open and obvious contravenes sound policy – perpetuates manufacture of dangerous prods.
8. Role of custom: P’s use: other manufacturers provided leg guards. Persuasive evidence of P’s case. D’s use – can argue had as much knowledge of risk available to them under state of the art technology at the time
Q. NOTES
1. If decide on case by case basis, potential problem is that mfr is going to get conflicting verdicts about what to do with their product.  For vehicles, more rigid frames or more collapsible frames.  These design issues create problems in the defense of products liability design cases.

a. One possible answer: mfr has to bring evidence to show what works in vast majority of cases.

R. Ortho Factors – R-U of prod to determine if design is unreasonably dangerous

1) The usefulness and desirability of the product- its utility to the user and to the public as a whole.

2)  The safety aspects of the product- the likelihood that it will cause injury and the probable seriousness of the injury.

3)  The availability of a substitute product which could meet the same need and not be as unsafe.

4)  The manufacturer’s ability to eliminate the unsafe character of the product without impairing its usefulness or making it too expensive to maintain its utility.

5)  The user’s ability to avoid danger by the exercise of care in the use of the product.

6) The user’s anticipated awareness of the dangers inherent in the product and their avoidability because of general public knowledge of the obvious condition of the product, or of the existence of suitable warnings or instructions.

7) The feasibility, on the part of the manufacturer, of spreading the loss by setting the price of the product or carrying liability insurance.
S. HOOD CASE (addresses “reasonable notice”:gravity of the warning)
1. FACTS: Hood purchased a Ryobi saw.  Two blade guards shielded the blade.  Hood claims he read the warnings but was unaware that removing the blade guards would permit the blade to detach.

2. ISSUE: can a mfr be liable when its warnings do not express the gravity of the danger.

3. 2 purposes of warning: protect consumer from exposing the blade AND keep blade locked in place

4. P’s contention: should have given warning that said “don’t remove cover because blade may detach”

5. Court says warning need only be one that is reasonable under the circumstances.

a. The more detailed the warning, the less likely consumers will read it – way to limit warning cases.

6. RULE IN WARNING CASES (reasonableness standard): Mfr must provide written warning conveying reasonable notice of the nature, gravity, and likelihood of known or knowable side effects

7. HOLDING: we are going to withdraw from the jury’s consideration those warning cases where in our opinion, the minimum amount of evidence wasn’t provided to satisfy our assessment of the inadequacy of the warning.

8. Policy – unfair to place burden on mfr. Forced to internalize cost for every idiot that use prod in wrong way. Price goes up and al consumers pay for it.

9. NOTES CASES
a. Moran v. Faberge 587 – teenagers trying to scent candle using cologne.  No warning that said it was flammable.  This case raises issue of what is common knowledge.
i. Appellate Court reinstated verdict of negligent failure to warn and said: although this particular accident was unforeseeable, other similar accidents, such as a woman accidentally spilling the cologne onto a lighted candle, might warrant a warning.
ii. Related Issue: if you sell your product to a largely minority community, do you have obligation to put warning in another language?
b. Ragans v. Miriam – 587 Hairstylist

i. For perm, need 2 things.  Warning only said “add to clear bottle only.”  No warning that said explosive if added to wrong bottle.
ii. Court held: it’s not necessarily a defective warning, but it has to go to the jury because the words failed to warn of the dangerous consequences.
iii. Even though it’s a technical product that ordinary consumers would not use, there’s an inadvertence problem, people make mistakes.
c. Hairdryer Problem Illustration: 
i. Open and obvious is not a defense in this case and it’s not about common knowledge, it’s about foreseeability of the misuse of the product.
ii. Design issue: have to take into account that people might drop it into water and reach for it.  Have to take into account that people will be unattentive.
d. MISUSE CASES: 591
i. Chair – sitting/standing.  Even though not intended design, have to take into account how product might be misused.
ii. Lugo case – detachable doll case – whether you need to warn that this product should not be thrown at another.
(1) Because everyone knows that Voltron tosses star, P allowed to get to jury because supplier had to anticipate that this was an unintended reasonably foreseeable use.
e. Heeding Presumption – D could argue P wouldn’t have followed warning if one was made, anyways. Subjective test.
T. HYPOS – Bulletproof Vests and Fans without grills
1. When comparing the two bulletproof vests (wraparound v. mobile), this is not a defective design because there are certain significant advantages.  The lighter one is chosen more often.
2. Steelblade fan – no additional benefit to removing the grill except for minor cost factor.
3. If you look at both of these under risk-utility test, might conclude that the two vests have different relative advantages to each other.
4. Under CET, it isn’t necessarily plaintiff-friendly.  There’s an inducement on part of mfr to make it obvious so you can make the jury argument.  
5. Judge/jury question: the P has the burden of establishing the minimum evidence necessary that a jury could conclude there was a defect.
a. Because of relative advantages of mobile vest, P wasn’t able to provide sufficient evidence.  In contrast, the fan illustration, almost certainly the P would be able to offer enough evidence to satisfy the minimum necessary.
U. OPEN AND OBVIOUS is not going to kill a products liability case, just less likely that P will prevail.
1. Open and Obvious in context of warnings (4th way): razor blades and knife, don’t have to warn that they’re sharp because mfr knows and everyone else knows of risk.
a. Have to always determine whether there is a substantial number of the population that doesn’t know of a given hazard (cultural knowledge – hay stack).
V. Open and obvious in context of defenses (5th way)

1. Edwards v. Basel Pharmaceuticals

a. FACTS: Edwards brought wrongful death action for husband who died of nicotine-induced heart attack as a result of smoking cigs while wearing two patches.  FDA required warning for patches. Warnings were inadequate, the insert did not mention the possibility of cardiac reaction.  Warnings given to physicians.
b. Side Issue: if mfr complied with FDA – federal safety standards, does this shield from liability.  NO, like statutes, just because you’ve complied does not mean you’ve satisfied your tort obligations.
c. Central Issue: whether a mfr is shielded from liability through the learned intermediary doctrine.
d. LEARNED INTERMEDIARY DOCTRINE: the mfr who warns the prescribing physician of all risks associated with the product is immunized from liability to the consumer. Special relationship btwn doctor and patient
i. Major exception to duty to warn:
(1) Ordinarily must give warning when it knows or should have known that a substantial number of population is likely to encounter the product.
ii. Justification for exception:
(1) Doctors can assess risk and are in best position
(2) Assume that physician will inform the patient of risk before prescribing.
(3) Best way to effectuate transferring of info.
iii. BUT the pill is treated differently.
e. EXCEPTIONS TO THE LEARNED INTERMEDIARY DOCTRINE:
(1) MASS IMMUNIZATIONS: there might not be a doctor/patient relationship. 
(2) When the FDA mandates that a warning be given directly to the consumer
1. some institution has determined that dangers are substantial enough that we want consumers to have direct info.
2. Contraceptive drugs and devices
(3) If you directly advertise to the consumer, have to include product’s risk in advertisement.
1. Doctor is out of the loop.  2. Drugs are being mass marketed. 3. consumer designer drug
f. Holding: Ct says patches are an exception to LID.
g. Rule: When direct warnings to the user of a pxn drug have been mandated by a safety regulation promulgated for the protection of the user, it’s an exception to LID.
h. Notes: Design defects for drugs. Unlike other durable prods, can’t easily be modified to limit side effects. Might be worth side effects. Usually falls under warning
i. Note: Unavoidably unsafe prod (diff from irreducibly unsafe). Might be some med prod that injures ppl but not a lot. Have side effects that are unavoidably unsafe – still won’t be regarded as defective prod.
2. Vassallo v. Baxter Healthcare Corporation
a. FACTS: P claimed that silicone breast implants were negligently designed.  D argues foresight test – at time prod was being manufactured, we used best state of the art technology available to reduce risks. Later on state of art tech might have changed, but we can’t be responsible for lack of knowledge later on. Ct used foresight test but D had prior negligence ruling against him saying had knowledge of risks
b. ISSUE of using FORESIGHT v. HINDSIGHT TEST
i. Foresight/ex ante (MAJORITY): judges adequacy of the warning from the time the product is put into the stream of commerce. Hazards you know or should have known about at time it went into market. Operates like negligence – looks to D’s conduct. E.g. P must establish D conducted himself negligently in designing prod, methodology in developing it, machinery, etc.
ii. Hindsight/ex poste: judges adequacy of warning at the time of injury.  Tests at the time of injury, might be five years later.  Before this case, court used hindsight test.  Analyze at the point the guy’s teeth turn black, look at product warning then. Operates like SL – don’t look at D’s conduct.
iii. Justify Hindsight:
(1) Incentive mfrs to put safe products with adequate warnings
(2) Incentive them to constantly inspect and test products
(3) Foresight test is a negligent standard
(4) Hindsight test makes you liable regardless of whether or not you acted reasonably in investigating.
(5) As between two innocents, one who caused harm.  P should be able to rely on products.
(6) Better position to spread the loss among people who use pharmaceuticals.
iv. Justify foresight test:
(1) Parade of horribles
(2) Turn us into insurers of loss
(3) SL standard is not fair because we are innocent.
(4) Don’t want to disincentivize mfrs from introducing new drugs into market.
3. NOTES following Vassallo Case
a. “State of the art” – What kind of info is knowable?
i. Examples: a risk of a given product might only be known by one person somewhere in the world, does that mean the mfr should have known about it?
ii. Restatment: state of the art refers to ‘industry custom or practice’ for others, the safest existing technology that has been adopted for use, for others it means cutting edge technology
iii. Can treat “state of the art” or “knowledge about risk” on the spectrum of knowledge.  If treat more strictly, can say that you’re put on notice even if printed in small publication.  OR can say only when info is published in English, then you must know about it.
iv. Question raised: at what point do you say the mfr should have known about a risk associated with this product?
b. manufacturers have to provide post-sale warnings in all jxns, but held to negligence standards
Rest. 3rd Section 10, pg. 618

i. The seller knows or reasonably should know that the product poses a substantial risk of harm to persons or property;

ii. Those who would benefit from the warning can be identified and are likely unaware of the risk;

iii. A warning can effectively be communicated to and acted upon by recipients; and

iv. That the ‘risk of harm is sufficiently great to justify the burden of providing a warning.”

W. OPEN AND OBVIOUS (5 WAYS IT COMES INTO PLAY)

1. A negligence regime where the question is whether the P has assumed the primary risk of some product so the mfr’s duty is correspondingly reduced.  EX: fan without grill
2. Strict liability claims – similar analysis in the balancing of risks and duties.  Whether the mfr must guard against risk that is open and obvious.  Also CET test.  If the particular features of fan is open to everyone, then consumer should ordinarily expect that this will embody certain hazards.
3. Warnings.  Should a warning be given that knives are sharp?  Question of whether one needs to give a warning.  The ergonomic question.
4. Affirmative Defenses. Related to assumption of risk.  If a particular defect is open and obvious and everyone knows.  If you should have known about a particular hazard and failed to protect yourself.
5. Warranty Context
X. DEFENSES

1. General Motors v. Sanchez
a. FACTS: Sanchez mis-shifted into what he thought was Park, but was in between Park and Reverse.  Gear shift slipped (without intervention by the driver) and truck rolled backwards and trapped Sanchez between truck and gate, killing him. P was negligent bc if had read through owner’s manual could’ve put up parking brake, taken out keys, etc. D argues P failed to discover defect. But when applying prod liability doctrine to design defects, failure to discover isn’t going to bar P’s claim, especially if defect isn’t open and obvious.
i. Circumstantial evidence – related to RIL
b. ISSUE: whether the doctrine of contributory negligence or comparative fault applies in the context of a strict products liability cause of action.
c. HOLDING: Comparative fault – P’s negligent conduct outside SL analysis can be factored in.
d. Ct says P had outside external legal duty to be responsible driver and operate his vehicle w/ordinary care – incentive for P to take precautions – public safety issue
e. Information Overload Argument
i. There is too much that everyone is expected to assimilate in order to function in a complex, technological society.  If you embrace comparative negligence, it is a form of SL to the consumer.  People simply cannot pay attn to all the warnings.  This standard is thus too high.  
f. If failure to discover defects were adopted, it would expand on the open and obvious doctrine in a profound way.
g. Note: D’s generally cannot disclaim product defects 
2. Misuse – Can operate as a defense: 3 ways to use

a. No relevant defect

i. defeats P’s prima fascie case

ii. hypo of P climbing onto chair w/5 horizontal wooden bars and falls over

b. Intervening cause

i. defeats P’s prima fascie case

ii. altering product

c. P’s contributory fault

i. affirmative defense
Y. ROYER v. CATHOLIC MEDICAL CENTER (“to whom is a duty owed” – focuses on 402A problem)

1. P’s allegation – design defect in prosthetic knee surgically implanted by medical institution.
2. ISSUE: whether or not the medical corporation defendant is a seller of goods for purposes of strict liability.
3. Evidence they sell product: paid for it, business of making a profit, advertised
4. If problem is with the service, have to sue under negligence.
5. If problem is with the product, can sue under negligence, warranty, and SL.
6. HOLDING: hospital cannot be held liable as a provider of health services.
a. Here, it’s not a matter of definition cuz they look like a seller.  Something unique about medical services.  Policy reasons.
7. POLICY REASONS:

a. Holding health care providers Strictly liable will cause higher costs to patients
b. Too much of a burden on physicians and hospitals
c. Don’t want to inhibit research and innovation in medical equipment and treatment
8. Note: Beauty Salon that was held liable for applying defective product to client’s hair
a. Why is this diff from any other service?
b. Elitism towards high professionals v. more mundane service oriented activities?
c. One of big policy args is theory of enterprise liability. SL is premised on idea that big enterprises are better equipped to spread losses. So why then is beauty salon liable when smaller and likely doesn’t have insurance when hospitals do?
d. Healthcare is a necessity – wouldn’t be cost-effective for all of us to take higher premiums if SL in healthcare – can’t have prices so high can’t utilize.
Z. CONTRACT v. TORT DAMAGES
1. Breach of Contract:
a. Expectation damages (loss of the bargain)
b. Generally, lost profits from loss of a product not recoverable
c. Generally, no punitive damages
2. Tort:
a. Compensatory damages (restores victim to position prior to tort)
b. Compensatory damages may include lost future wages or profits
c. Possibility of punitive damages (under a higher standard)
3. East River v. Transamerica (applies to admiralty cases)

a. ISSUE: May a purchaser of a product proven to be defective obtain recovery in a tort case (arising in admiralty) when the defect causes loss to the product itself?

b. Answer: No.  The rule is known as the “economic loss rule”

c. Summary:

i. Supreme Court adopts “economic loss rule” for product defects arising in admiralty cases.
ii. Influential decision for common law in states
iii. “Economic loss rule” is a rule about tort law generally, not just products.
d. Reasons for decision:
(1) Police border between contract and tort.  Fear is that everyone suffering a loss of a product b/c of a defect would try to sue for tort damages.
(2) Limitations on damage appropriate; fear of “excessive liability” in tort
4. TYPES OF LOSSES RECOVERABLE FOR PRODUCTS DEFECT:

(1) Personal injuries

(2) Property damage other than to the product itself

(3) Damage to the product itself

(4) Lost profits or benefits because the product is not available

5. Only the first 2 are recoverable in TORT.  This is known as the “economic loss rule.”

a. EX: Sears water heater.  They install and it explodes.
i. If problem is with the service, can’t sue under warranty or 402A.  have to establish negligence.
ii. If problem with the defect in product, then can recoup
(1) Personal injuries under negligence, warranty, or 402A.
(2) w/r/t property damage other than to property itself, damage to basement: three theories of negligence, warranty, and 402A.  subject to privity limitations and exculpation disclaimers.
iii. MAY NOT RECOVER for damage to water heater itself under negligence or 402A even if it damaged other things
iv. MAY NOT RECOVER in tort for loss damages.  However, may sue in warranty – implied warranty of merchantability – contract action.
	
	Personal injuries
	Prop damage other than to product
	Damage to the product itself
	Lost profits or benefits

	402A
	Yes
	Yes
	No
	No

	Disclaimable?
	No
	No
	X
	X

	Warranty
	Yes
	Yes
	Yes
	Must bargain

	Disclaimable?
	No
	Sometimes
	Yes
	Yes


V. COMPENSATORY DAMAGES
A. Personal Injury Damages

1. Economic damages

a. Lost earnings – past and future

b. Med expenses – past and future

2. Non economic damages

a. Pain and suffering

B. damages complicated by

1. life expectancy

2. work life expectancy

3. inflation

a. P will argue should be entitled to higher settlement

b. Suppose plaintiff is completely disabled because of defendant’s tort. The past year, plaintiff earned a salary of $100,000. How much must defendant pay for next year’s salary? Depends on 2 factors that are generally off-setting:
i. Wage inflation

ii. General inflation
4. discount rate

a. ex of if got judgment for $100/day. Would need to discount interest rate

i. Assume interest rate is 10% per year. If I gave you approximately $90.90 today, it would yield $100 invested for a year at 10%.
ii. A “present value table” gives you the formula to do this over any number of years and at any interest rate.

5. income taxes

6. lump sum v. periodic payments

a. lump sum generally ordered

i. Benefits

· Administratively easier – don’t have to come up w/inane and overly complicated damages
· Up front, so D will know not subject to crap later and won’t be liable for damages not yet assessed
ii. Cons
· Might be difficult for P to maintain jxn over D

7. single judgment rule

8. attorney’s fees

C. Pain and Suffering Damages
1. Physical pain derived from the trauma of the accident, medical treatment, rehabilitative process, etc…Mental or psychological suffering that plaintiff feels because of his or her condition.
2. Justifications for:

i. contingency fees
ii. way for attorneys to recover fees

iii. functions as deterrent

iv. compensates the victim – but this doesn’t put them back in place they were before the injury. $ is next best thing?
3. Arguments against:

i. not really compensation – doesn’t make P feel better in the end

ii. highly ambiguous
4. Seffert v. LA Transit Lines – P was entering bus and doors closed suddenly, catching her hand and foot, and throwing her to ground when stopped. Injury: 8 surgeries to reconstruct foot and ankle and months in hospital. Permanently injured – ulcer on foot that had threat of amputation. Couldn’t work. 42 year old single woman. 
i. Assessed economic losses for past and future earnings. Not disputed
ii. Main Issue: non-economic damages for $134k. Determined by P’s attorney who came up w/formula and numeric value to each day that she lives after the accident (per diem arg). Jury took it at face value and awarded it.
iii. Dissent: Traynor says pain and suffering damages should be recognized, but juries should come up w/amt by comparing with other similar cases.
· But this is difficult – no 2 cases are really similar
· Also, even if had spectrum, high and low ends are arbitrary

iv. Traynor also argues against per diem calculation – but motivating force behind this is wanting consistency w/damages - as a society, law should give us notice about how to conduct ourselves and shouldn’t be unfairly liable (fairness)
v. Notes: shocks the conscience is difficult to meet

· Student arg: not shocks the conscience – no one would trade their limb for $1million (did prof say this type of arg barred?)
5. McDougald v. Garber

i. Facts: woman was comatose after med malpractice. Got $2 million for pain and suffering
ii. Issue: should pain and suffering damages be separate from loss of enjoyment of life?

iii. Holding: No. 

iv. Class discussion: denying damages has perverse effect of denying recovery for egregious injuries but rewarding relatively minor ones. If have to be conscious for pain and suffering damages – shouldn’t you be able to recover for loss of enjoyment of life??? Being aware of injury v. capacity to enjoy life, watch children grow, etc. If goal is deterrence, shouldn’t it be awarded?
6. Other approaches to pain and suffering to promote consistency

i. Caps on damages

· In CA, caps on med malpractice is $250k

· Arg that good idea: fairness – won’t be imposing arbitrary damage award on D based on jury discretion. Juries are sympathetic towards Ps.

· Arg that not good idea – won’t be able to find attorney to take case. Counter: promotes shopping around for big money

ii. CA: non-economic several liability

iii. Schedule of damages

7. Death Cases

i. Survival actions: where estate sues for what decedent could’ve sued for e.g. pecuniary and non-pecuniary losses
ii. Wrongful death: beneficiaries sue for their own losses – what they would’ve received had decedent lived
8. In class hypo about victim dying at birth bc of med malpractice. Parents sue for wrongful death (ask – can baby recover?? Knows about to die?)
i. If both parents are hs dropouts, unemployed, and on welfare, they will get less money than the child of 2 doctors earning $200k/year

ii. Richer parents will argue: I’m losing the guidance and advice of my child who would’ve been highly educated also bc would’ve followed my footsteps. Counter – offset by investment in child

VI. PUNITVE DAMAGES
A. Purpose is to punish and deter 
· The more you hit D’s pocketbooks, the more deterrence to greater community or society

· Might have to consider how rich the co. is if really want to deter
B. Process: jury first told to determine liability, then actual damages. Now can consider punitive and Ds wealth

C. CA standard: (a) In an action for the breach of an obligation not arising from contract, where it is proven by clear and convincing evidence that the defendant has been guilty of oppression, fraud, or malice, the plaintiff, in addition to the actual damages, may recover damages for the sake of example and by way of punishing the defendant. 
D. NY Times Article – son dies in motorcycle accident bc helmet malfunctioned. Got $1 million dollar judgment against manufacturing co, which is in UK. UK refuses to enforce judgment – thinks punitive damages is ridiculous
E. Taylor v. Superior Ct
1. Facts: Drunk D crashes into P, causing serious injuries. D had habit and history of driving under influence. Had been arrested and convicted for drunk driving many times before. D also accepted employment which reqd him to visit establishments where alcohol sold, and delivered such beverages in his car. Also alleged at time accident occurred was drinking while delivering beverages.

2. Issue: is actual intent req’d to impute punitive damages?

3. Holding: No. Actual intent to harm not req’d but conscious disregard for safety of others is (CHECK)
4. Ct wanted to make statement about drunk driving. Policy – public safety, drunk drivers extremely dangerous

5. Aside: P sued driver, who’s poor. Didn’t sue employer bc standards for vicarious liability are too high

6. Dissent – punitive damages should not have been awarded

i. P is fully compensated for injury by compensatory damages. Additional award is unjust enrichment

ii. Civil law is concerned w/compensation. Crim law is for punishment. Punitive damages is double punishment
· Class debate: doesn’t address underenforcement. Prosecutors can’t prosecute every case. History of crim justice system failing – D got in trouble lots of times!

· Depends on whether crim fine is hefty enough – otherwise might just do cost-benefit analysis and take risk anyways

· Punitive damages = revenge. Is this a valid reason?

iii. Punitive damage trials interfere w/trial procedures. If P can place punitive damages in issue, means that Ps can offer evidence of financial status of D. Would convert personal injury cases where intoxication or willful misconduct into field day abt financial standing of D
iv. Situations exist where deterrent effect of punitives is marginal. If conduct while clearly wrongful is not criminal, punitive award may be necessary to deter. Otherwise persons contemplating wrongful conduct may feel they’re in a no-lose situation, only gaining by wrongful conduct . Punitives marginal where conduct already constitutes crim. Marginal where wrongful conduct is as likely to result in injury to wrongdoer, too. (WHAT?)

v. Prevalence of liability insurance. 

vi. Comparative fault – P guilty of willful misconduct may not recover any damages against a negligent D. bc malice imports willfulness, intoxicated drivers will be barred from any recovery against negligent Ds.

vii. Note: Punitive damages in product cases.

· Hillrichs v. Avco – Ct upheld compensatory award against corn picking machine in favor of farmer whose hand was caught in the machine. Evidence showed that manufacturer had known of danger and consciously decided not to install emergency stop device nearby bc of ‘dependency hypothesis’ that prod as designed would discourage farmers from making contact w/roller bed and P’s proposed device would invite farmers to unreasonably depend on it despite dangerousness of roller bed. Ct held award for punitive is inappropriate when room exists for reasonable disagreement over the relative risks and utilities of the conduct and device at issue

viii. Note: Punitives awarded less than 10% of jury trials and less frequently awarded in prod liability cases than intentional and employment-related claims. No evidence that judges and juries respond differently in awarding punitive
F. Due Process Limitation

1. BMW v. Gore – Ct refused to sustain $2 million punitive w/a verdict of $4k in compensatory. Before this case, Ds made due process claims, but USSC rejected them. Gore factors:
i. the degree of reprehensibility of D’s misconduct;

ii. the disparity btwn the actual or potential harm suffered by P and the punitive damages award; and

iii. the difference btwn the punitive awarded by the jury and the civil penalties authorized or imposed in comparable cases

2. State Farm Mutual v. Campbell – 2 lane hwy and C tried to pass 6 cars. O swerved to miss C and hit S. O killed and S permanently disabled. Attorneys representing C from State Farm refused to settle for policy amt ($50k total). C found 100% liable at trial. Amt of damages assessed was $185k. State Farm at first refused to pay excess and told C should put his house up for sale. When offering their representation at outset, State Farm said everything would be taken care of, and C wouldn’t have to pay a dime. State Farm eventually said would pay. But C went into deal w/O and S, who said they wouldn’t seek satisfaction of their claim if he agreed to be represented by their attorneys and sue State Farm for bad faith, fraud, IIED. O and S would take 90% of any judgment. Bifurcated trial:
i. Bad faith claim – insurance carriers have duty to settle. If standard met that likelihood of excessive damages, then duty to settle is triggered. 2nd – IIED and Fraud (these 2 are non-economic compensatory damages). Jury awards $1 million compensatory and $145 million punitive. Trial ct reduces punitive to $25 million
ii. Utah ct, using 3 Gore factors, reinstates original verdict. Focuses on evidence that State Farm had pattern and practice of capping out liability at low level – reprehensible. Another rationale – these cases would only arise in 1 out of 50,000 cases.

iii. USSC – FQ case: 14th amendment due process. Substantive – fundamental right here is monetary damages, which is property, shouldn’t be take from D in excessive amount
· Reprehensibility – not 1 factor is determinative (physical/economic, repeated/sole incidence, recklessness?). justification for punitive – but too much here.

·  No bright-line rule for determining punitive – suggests single digit ratio. Wider ranging ratio won’t offend due process is conduct is super egregious.

· Minimized State Farm’s reprehensibility by saying all evidence of conduct outside of Utah and against non-parties should be irrelevant

· Wealth of D should not be factored in to justify higher ration – would prejudice D. Doesn’t blatantly revoke this, though – can still be used. Just talks about reasonableness and proportionality.

· Third prong: sanction of $10k was involved, and punitive is excessive compared to that. And, even w/sanctions, high burden of proof in crim cases – unfair to subject D to this sort of liability w/lower burden bc civil case

iv. Ginsburg dissent: issue of federalism – fed govt shouldn’t interfere w/state power to determine their own guidelines for determining punitive. 
v. Scalia and Thomas dissent: originalists, so don’t like concept of substantive due process. Opposed to expanding due process.

vi. Administrability concern: USSC laying down track for putting caps on damages. If continues, all state cases where punitive assessed could go up to SC and flood it.

3. Williams v. Phillip Morrison
i. Facts: widow sues PM. Produced evidence PM know about dangers of smoking but assured consumers it was safe. OSC affirmed jury award of $79.5 million in punitive – said half century scheme to defraud OR citizens. Goes up to USSC on due process claim – applied Gore factors and sent back to retrial to be consistent w/Campbell. But OSC reinstated jury verdict..twice. Reprehensibility. Will likely go back to USSC. Conflict btwn state power and USSC decision making.
4. Remaining Questions:

i. What is the role of defendant’s wealth?
ii. How much power do states now have to set the amount of punitive damages?
iii. How should juries go about determining the amount of punitive damages?
iv. What is the effect of repeat awards?

· Unfair to future Ps. If initial one gets a shitload and co. goes bankrupt, what’s left for others?
· Posner: whether or not D is poor shouldn’t be concern for P. Not something jury should think about when coming up w/damage amt

5. P’s alternatives if don’t agree w/trial cts determination of damages

i. Remittetur: when trial ct determines punitives is too much and reduces it. P can accept that or get a new trial

ii. Additur: D can accept an increased amt determined by trial ct or there’ll be another trial

VII. ROLE OF INSURANCE
A. Two Types:

1. First party

i. protecting oneself against one’s own losses

ii. ex: auto insurance – if get in accident, insurance covers my loss

iii. Collateral source rule: Where a plaintiff is compensated for his or her injuries by some source independent of the tortfeasor, the plaintiff is still entitled to full recovery against tortfeasor.
· What are the policy justifications for the rule?

· Does the rule apply to gifts?

· What are the rule’s exceptions?

iv. Subrogation: the right of the collateral source to recover what it has paid to the plaintiff when the plaintiff recovers in tort against the defendant. Full subrogation – subrogee can step into shoes of P and get reimbursement directly from D (suing on behalf of P). If P is already suing, insurer can exercise right
Collateral source = subrogee 

Plaintiff = subrogor 
3 Possibilities:

· Collateral source rule with no subrogation
· Danger of this – raises cost of insurance, discourages ppl from being charitable, every time someone sees doc, they’re ultimately getting more money – health insurance and D paying for it (HUH?)
· No collateral source rule
· Danger: Windgall to D and no deterrent impact

· Collateral source rule with subrogation
· Achieves goal of eliminating double recovery bc insurance gets reimbursement from P

· D will still be held liable. Still has to pay damages. Still deterrent

· Student: shifting windfall to insurance

· Student: keeps insurance rates down
2. 3rd party

i. Protecting oneself from liability against 3rd parties

ii. Ex: auto insurance – if injure someone else, insurance covers

B. Traditional Collateral Source Doctrine

1. Policy justifications:

i. Tort feasor shouldn’t benefit from injured person who had the foresight to get insurance. E.g. no windfall to D. If no collateral source rule, D wouldn’t have to pay

ii. Collateral source rule is not going to result in double recovery – no overcompensation.

· Insurance benefits are limited amts, but P might have injuries exceeding that amt.

· Os are investing into those premiums that they’re getting paid out of

2. Arambula v. Wells 
i. Facts: P injured in car accident and missed work, but still received weekly salary from bro (charitable action). Recovered lost earnings from D, too. 
ii. Issue: Does doctrine apply when there’s no insurance; just a gratuitous gift?
iii. Holding: yes. No distinction btwn gifts and other collateral sources.
iv. D argues should be distinction – if P is paying premium and investing in own protection, that justifies payout, but no justification for unsolicited gift.
v. Ct rejects this – 
· All of laws existing in CA make no distinction

· Analogizes to family med care (family member charitably caring for an injured love one)
· Counter – doesn’t make sense. Med care is more of an immediacy so compensation justified whereas lost wages is not
· Majority of jxns outside CA agree no distinction
· Broad policy rationale: want to encourage ppl to act charitably. If didn’t treat as collateral source, would work counter to this. No windfall to D concept. 
· Also, encouraging non-governmental charity helps the states
· Even w/out requiring reimbursement, P will want to repay donor bc inspired by act of generosity. One good act leads to another.
vi. EXCEPTIONS
· If D’s family charitably gave
· Governmental benefits.
C. Subrogation
1. Frost v. Porter Leasing Corp. – P injured in car crash and sued for med expenses and other damages. Wife sues for loss of consortium. Union health insurance wanted to be reimbursed for amt of med benefits paid to P. No subrogation clause in insurance K.

i. Issue: should ct imply subrogation?

ii. Holding: No. Not in personal injury cases.
iii. Subrogation can’t be implied here bc case doesn’t involve double recovery bc of additional costs (attorney fees, etc). Distinction btwn property damage and personal injury. Subrogation ok in prop bc damages can be isolated, but not personal injury. But med expenses can be isolated. WHAT DOES THIS MEAN?
iv. RULE: in the absence of a subrogation agmt btwn insurer and insured, an insurer that has paid med expense benefits has no right to share in the proceeds of the insured’s recovery against the tort feasor
v. Aside: arg that subrogation shouldn’t be implied although med expenses can be isolated? Prop damage constitutes complete recovery, but personal injury includes intangibles, too – pain and suffering, loss of earning, future med bills, etc. So if deny subrogation, P will be made whole. Also administrability concern – how would ct come up w/formula w/all these actual and intangible costs?

2. Obstacles to insurance co applying subrogation

i. Parsing out exactly what insurance co owed. P receives settlement, probably less than what P would’ve gotten if gone to jury trial and not an itemized list. If ins goes through subrogation, has to be proportional to decreased amt P was awarded in settlement

ii. Even before get to pt where insurance co could exercise right, first have to go through hurdle of having lawsuit. Ins co processes thousands of injury claims, and P would have to be willing to sue tort feasor. If sue, then insurance has to become aware, monitor, and intervene in that lawsuit. Inefficient.

VIII. TORT ALTERNATIVES
A. Tort:

Loss allocation based on moral perspective

Wrongful defendant vs. deserving plaintiff
B. Workers Compensation (No fault)

1. No fault scheme. But still have to show causation – worker has to id exactly what caused injury and that it arose out of workplace event

2. Loss allocation based on social welfare perspective
3. Extreme form of SL – all injured workers get compensated

4. All states have worker’s comp

5. Goal is administrative efficiency

6. Complications:

i. Problem w/proving causation, “arising out of” nexus

ii. Measuring recovery

· Permanent partial disability

· Mental stress

· Probs: counter acts administrative efficiency – line drawing problem. More circuitous to show than physical injury

· Arg for: fairness

· Mental-mental: mentally stressed out, so causes mental stress

· Physical-mental: physical stress causing mental stress

· Student: ppl should take care of themselves

· Student: justified – company’s cost of doing business

· Student: w/companies knowing mental health suits, employers might encourage more vacations

· Student: would be floodgates problem – element of stress in everything

· Prof: comprehensive scheme takes care of employer retaliation

· Student: argue repetitive stress is like repetifive physical motions – mitigates line drawing prob
· Occupational stress

7. Does WC fulfill goals of tort law?

i. Compensation
ii. Deterrence
iii. Administrability 
iv. Economic efficiency
v. Fairness
C. Other no fault alternatives
1. Vaccine injury compensation program

i. case of girl who got influenza vaccine and got autism. Family produces evidence directly linking vaccine and autism. In negotiations w/fed govt through compensation program.

· Problem: compensation program is designed to take care of isolated incident. But there are over 5000 kids who got the vaccine. Threat is that’s compensation program will go bankrupt

· Policy for program: societal benefit – ppl will get vaccine and producers of vaccines are still encouraged to research and come up w/new vaccines w/out threat of lawsuit.

2. 9/11 fund

i. Covers intangible losses, too

ii. On avg $2 million/person

iii. Policy: protecting airlines from liability

3. Applying no fault to med malpractice?

i. policy of protecting doctors and hospitals

4. Purpose of no fault compensation (in absence of admin plus

i. more workers get benefits (less, though). Compensation goal

ii. deterrence issue – if docs don’t have to worry about huge tort liability from ind lawsuits, are they going to act in a less safe manner?? More injuries = insurance premiums up – so maybe deterrence not a prob

5. Auto accidents

i. comprehensive no fault exists bc can still sue each other (CHECK)

Go back later:

argue against applying no fault scheme to prods
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